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Question Number : 1 Question Id : 6154759823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of ideas

(4) Mastery of facts and information

Options:
61547538201, 1
615475382302, 2



E1547538203. 3
51547538204, 4

Question Number : 1 Question Id : 6154759823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475238201, 1
615475382302, 2
61547538203 2
61547538204, 4

Question Number : 2 Question Id : 6154759824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

(b) Teaching 1mplies learning

(c) Teaching 1s like selling while learning 12 ike buving

(d) Teaching can occur without learning taking place

(e) In teaching. influence is directed towards learning and learner, while in learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2)  (a). (b)and (c)
(3) (b). (¢) and (d) (4) (e). (d) and (e)
Options:

£1547528305. 1
61547538306, 2
E15475382307. 3
E1547538208. 4

Question Number : 2 Question Id : 6154759824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547528305. 1
61547538306, 2
E15475382307. 3
E1547538208. 4

Question Number : 3 Question Id : 6154759825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a). (b) and (c)
(2) (b). (c¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)
Options:
1547523523091
154752352310 2

61547538211, 3
E1547538212. 4

Question Number : 3 Question Id : 6154759825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475383209, 1
615475382100 2
61547528211, 5
61547538212 4

Question Number : 4 Question Id : 6154759826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options:

615475382131
61547538214 2
61547528215, 5
61547538216 4

Question Number : 4 Question Id : 6154759826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475383121
61547528214 2
61547528215 2
61547538316 4

Question Number : 5 Question Id : 6154759827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment (2) Summative assessment

(3) Portfolio assessment (4) Performance assessment
Options:

61547538217, 1
61547538218, 2
E1547538218. 3
E15475382320. 4

Question Number : 5 Question Id : 6154759827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547538217, 1
61547538218, 2
1547538219 2
1547528220 4

Question Number : 6 Question Id : 6154759828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applied research paradigm (4) Action research paradigm
Options:

615475285321, 1
E1547538322. 2
E15475382323. 3
615475382324, 4

Question Number : 6 Question Id : 6154759828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475382321. 1
B1547538322. 2
B1547538323. 3
615475382324, 4

Question Number : 7 Question Id : 6154759829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A researcher intends to make use of ICT 1n his/her research. What considerations should
welgh most 1n such a decision?

(a) Appropriateness of the tool used
(b) Cost 1nvolved 1n procuring it
(c) Availability of tools in the department where research 1s to be undertaken

(d) Willingness of his/her supervisor to offer help
(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (c) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options:

5154753823251
61547538326, 2
E1547538327. 3
61547538328, 4



Question Number : 7 Question Id : 6154759829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475385325. 1
B1547538326. 2
B1547538327. 3
61547538328, 4

Question Number : 8 Question Id : 6154759830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sampling procedures will be appropriate for conducting researches

with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure

(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options:

61547538229, 1
615475383220 2
E1547528221. 2
615475258222 4

Question Number : 8 Question Id : 6154759830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154752823291
61547538330, 2
61547538331, 3
61547538332 4

Question Number : 9 Question Id : 6154759831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following formats ‘Chapter Scheme’ of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options:

E1547538233. 1
B1547538234. 2
51547538235, 3
61547538336, 4

Question Number : 9 Question Id : 6154759831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E15475385333. 1
E1547538234. 2
B1547538235. 3
51547538236, 4



Question Number : 10 Question Id : 6154759832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an instance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options:

E15475382337. 1
B1547538238. 2
51547538239, 3
61547535340, 4

Question Number : 10 Question Id : 6154759832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547538337. 1
61547528338, 2
E15475382339. 3
E1547538240. 4

Question Number : 11 Question Id : 6154759833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. 1t can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options:

E1547538341. 1
E1547538342. 2
E1547538243. 3
B1547538244. 4

Question Number : 11 Question Id : 6154759833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475238241, 1
615475382342 2
615475358343, 3
E15475385344. 4

Question Number : 12 Question Id : 6154759834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Information overload 1n a classroom evmironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options:

£1547538345. 1
E154753834E. 2
E15475382347. 3
B1547538248. 4

Question Number : 12 Question Id : 6154759834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

5154752382451
61547538346, 2
E1547538347. 3
61547525348, 4

Question Number : 13 Question Id : 6154759835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3 Presentation without pause

(4) Resorting to semantic jugglery
Options:
1547538549 1
&1547538350 2
1547538351 2
G15475385352 4

Question Number : 13 Question Id : 6154759835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475382349. 1
E15475382350. 2
515475382351, 3
515475382352, 4

Question Number : 14 Question Id : 6154759836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following modes of communication can be employed 1n a classroom for effective
teaching?
(a) Top-down

(b) Iconic
(c) Associational
(d) Dissociational

(e) Svmbolic
(f) Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and (f) (2) (c). (e)and (D)
(3) (b). () and (e) (4) (a).(c) and (d)
Options:

61547538552, 1
E15475385354. 2
E15475382355. 3
515475385356, 4



Question Number : 14 Question Id : 6154759836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547538253. 1
615475382354, 2
51547538355, 3
E1547538356. 4

Question Number : 15 Question Id : 6154759837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang 1n formal teaching makes commumication lively and
Interesting.

Reasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true



Options:

61547538357, 1
1547538358 2
E1547528259 2
615475382360, 4

Question Number : 15 Question Id : 6154759837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547538357, 1
1547538358 2
E1547528259 2
615475382360, 4

Question Number : 16 Question Id : 6154759838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain coding language. "AEIOU 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV will be written as

() UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

E1547538261. 1
61547538362, 2
61547538363, 3
E1547538364. 4

Question Number : 16 Question Id : 6154759838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

wF F2 9T # AEIOU =i “TNHDZ' % =1 ® fomgn a1 2| 35t %2 9o &1 v =2 ‘BFJPV =1 fFm

=7 7 o s ?

(1) UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

51547538261, 1
61547538362, 2
61547538363, 3
61547525364, 4

Question Number : 17 Question Id : 6154759839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 3% of (a+b) = 7% of (ab)

and 5% of (a—b) = 4% of (ab),

then what percentage of b 1s a?

47 23

(1 % 9y =229
) 93" @ 7"
@ 40, @ 2300,
923 47
Options:

E1547538565. 1
E1547538266. 2
B1547538367. 3
61547538368, 4

Question Number : 17 Question Id : 6154759839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



St (a—b) 1 5% = (ab) 1 4%

Tt b =1 g e ufasg 27

47 o
1 % 2 —
& g (2 g
3) 4700 o ) 2300 o
23 47
Options:

E1547538365. 1
E1547538366. 2
BE1547538367. 3
51547538268, 4

Question Number : 18 Question Id : 6154759840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) 52 (2) 52
(3) 64 (4) —-64
Options:

5154753826459, 1
61547538370, 2
61547528371, 3
E1547538372. 4

Question Number : 18 Question Id : 6154759840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) —52 (2) 52
(3) 64 (4) —64
Options:

E154752836%9. 1
61547528370, 2
E1547538371. 3
E15475382372. 4

Question Number : 19 Question Id : 6154759841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A certain principal invested at compound 1nterest payvable yvearly amounts to Rs. 10816.00 1n
3 yvears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

I 3% 2 4%
(3) 4.5% (4) 5.5%
Options:

6154753823731
61547538374, 2
61547538375, 3
E1547538376. 4

Question Number : 19 Question Id : 6154759841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3% (%) 4%
(3) 4.5% (4) 5.5%
Options:

E1547538373. 1
615475385374, 2
E15475382375. 3
BE15475382376. 4

Question Number : 20 Question Id : 6154759842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3  35.5% (4) 38.8%
Options:

BE15475382377. 1
615475382378, 2
61547538379, 3
61547528380, 4

Question Number : 20 Question Id : 6154759842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 35.8% (2)  38.5%
(3) 35.5% (4) 38.8%
Options:

BE1547538377. 1
E15475382378. 2
B15475382379. 3
61547538280, 4

Question Number : 21 Question Id : 6154759843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following hetwabhasa (fallacy) 1s involved 1n the argument, “Sound i1s
element because it 1s cauzed™?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle

(3) Sﬁdh}'asama or the unproved middle

(4) Badhita or non-1nferentially contradicted middle
Options:
6154753856511
61547538582 2
61547538383 2
15475383584, 4

Question Number : 21 Question Id : 6154759843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547538281, 1
61547538382, 2
61547538382, 3
E15475385384. 4

Question Number : 22 Question Id : 6154759844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1) IAT (2) IAA
(3) ITA (4) AII
Options:

61547538385, 1
61547538386, 2
E1547538387. 3
E15475382388. 4

Question Number : 22 Question Id : 6154759844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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UL deh—dl9g = T&a=H 1 & ¢

(1) IAI (2) IAA
(3) ITA (4) AII
Options:

61547528385, 1
61547538386, 2
E1547538387. 3
E1547538288. 4

Question Number : 23 Question Id : 6154759845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s converse of ‘Some S 1s P*?

(1) Some S 1s not P (2) SomePisnotS
(3) Some P1s S (4) NoPisS
Options:

61547538389, 1
61547538330, 2



E15475382391. 3
515475382352, 4

Question Number : 23 Question Id : 6154759845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F3 S, P 7 - TH Uadm Fefeifgd 9 o A1 27

(1) F8S8.PFi= (2) FBP.STH 3
Options:

E15475382389. 1
5154753823390, 2
515475382591, 3
61547538392, 4

Question Number : 24 Question Id : 6154759846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?

(1) Asatpratipaksa (2) Auvatireka
(3) Anyonya-Asiddha (4) Suyabhicara
Options:

61547528592, 1
E15475385394. 2
B15475383595. 3
515475383596, 4

Question Number : 24 Question Id : 6154759846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeAfetad B o S 3999 =d H@159 U5 % OO F9 § T T8 8 7

(1)  =1=e ufaus (2) oA

(3) I 1= | oz (4) T
Options:

E15475382393. 1
61547538254, 2
61547538395, 3
E1547538396. 4

Question Number : 25 Question Id : 6154759847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to classical Indian school of logic. what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upana}-'a.PratijI;a. Hetu, Udaharana . Nigmana
(2) Prat.ij;la. Hetu, Upanaya. Udaharana , Nigmana
(3) Pratij;m . Upanaya. Hetu, Udaharana . Nigmana
(4) Pratijgla . Hetu. Udaharana . Upanaya. Nigmana

Options:

61547538297, 1
61547538398 2
15475383299 2
E1547525400. 4

Question Number : 25 Question Id : 6154759847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. ~ r = -, e - - - - e P S
R YA TR il FEREE AR FAE 0 HiEd S9E-3T69 F 9] HeenEd 9 "
FIAET ATHA TRl B 7

(1) T, TTHeT, E'T-[ 22T, e (2) wfaa, Tﬁ 30, IR, A
(3) ofes, 397, 74, e, e (4) wfamm, =4, sEww, I,
Options:

615475283397, 1
E15475383958. 2
B1547538399. 3
51547538400, 4

Sub-Section Number: 2
Sub-Section 1d: 615475426
Question Shuffling Allowed : Yes

Question Id : 6154759848 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers in the parenthesis give the maximum marks In
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of - : : :

stsderk Maths | Chemistry | Physics Biology English
(150) (130) (120) (100) (100)

Anlkat a0 a0 80 60 70

Amar 100 60 70 40 80

Sanva a0 60 85 80 G0

Rahul S0 fis) G5 a0 a0

Puneet S0 80 70 85 50

Pooja 70 i) 50 80 40

Sub questions

Question Number : 26 Question Id : 6154759849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the overall percentage of marks obtained by Amar?

(1) 70% 2y 72%
(3) 60% (4) 58.33%

Options:
61547535401,

E154753840%.
E1547538403.
515475238404,

[ N

Question Number : 27 Question Id : 6154759850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the aggregate of marks obtained by Sanyva in all the five subjects?

(1) 375 (Z2) 395
(3) 455 (4) 475

Options:
61547535405,

E1547538408,
E1547538407.
515475238408,

[ N S

Question Number : 28 Question Id : 6154759851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the average marks obtained by all the six students in Chemstry?

(1) 86.66 (2) 76.66
(3) 66.66 (4) 60.00
Options:

515475238409, 1
61547538410, 2
615475358411, 2
615475258412 4

Question Number : 29 Question Id : 6154759852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (2) Two
(3) One (4) Zero
Options:

E1547538413. 1
E1547538414. 2
51547538415 3
515475358416, 4

Question Number : 30 Question Id : 6154759853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which subject the performance of the students is worst 1n terms of percentage of marks?

(1) Chemistry (2) Physics
(3) Bioclogy (4) Enghsh
Options:

BE1547538417. 1
51547538418, 2
E154753584149. 3
615475258420, 4

Question Id : 6154759848 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension
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faw= ITH ST =i aiaerdr (%)
(ATeRan 37%)

=79 F 91 TTfor A gitgh | SE-fawE | s
(150) (130) (120) (100) (100)

A 00 50 80 60 70

IR 100 60 70 40 80

= 00 60 85 80 60

TEd 80 75 65 90 90

g 80 80 70 85 50

LEL 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 6154759849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FTHL AT OTH 31 i e afaeraer fRal 27

(1) 70% (2) 72%
(3) 60% (4) 58.33%
Options:

61547533401,
G1547538402,

E1547538403.
515475238404,

[ N

Question Number : 27 Question Id : 6154759850 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt o= faw=t | T & TEE g A e R

(1)

Lo
L

(2) 39

L& ]

(3) 4553

Lo ]
LN

(4) 475

Options:
£1547535405.

E1547 538406,
51547538407,
51547528408,

e LI M



Question Number : 28 Question Id : 6154759851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THEE TagH § g S D11 B HAEd ITH T HAE B 7

(1) 86.66 (2) 76.66
(3) H6.66 {4y 60.00
Options:

E154753840%9. 1
E1547538410. 2
615475358411, =
61547538417, 4

Question Number : 29 Question Id : 6154759852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tl fHag 9 T 9 4 60% I1 SHE SAH 37 UTH B0 R 7

-~ -

(1) GIE (2) =i
(3) = (4 I=
Options:

615475258412 1
E1547538414. 2
E15475358415. 3
51547538416, 4

Question Number : 30 Question Id : 6154759853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S i ufeeraar =1 3fe ® fHE fav 4wt # o ges wue wE

(1) e e (2) HiEw-TaE
(3) = EEE (4) ==
Options:

61547538417, 1
6154752584158, 2
E1547538418. 3
E1547538420. 4

Sub-Section Number: 3
Sub-Section | d: 615475427
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 6154759854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Printing
Options:

61547528421, 1
E1547538422. 2
E1547538423. 3
B1547538424. 4

Question Number : 31 Question Id : 6154759854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FefeIfiad e 8 § -3 5 92 TEET | SiegEs F =EY d 95| § 131 2 7

1) = (ofsfen) @ W
Gy i () @) T (Fafem)
Options:

E1547538421. 1
E1547538422. 2
B1547538423. 3
51547538424, 4

Question Number : 32 Question Id : 6154759855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options:

E1547538425. 1
61547538426, 2
B1547538427. 3
615475358428, 4

Question Number : 32 Question Id : 6154759855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) 1024 TZrEEg (2) 1024 TMETES
(3) 1024 FrerraEEH (4) 1024 =iEem
Options:

6154752384251
E1547538426. 2
E1547538427. 3
51547538428, 4

Question Number : 33 Question Id : 6154759856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiF1 (2) Bluetooth
(3) Modem (4) USB
Options:

E1547538429. 1
E1547538420. 2
51547538421, 3
61547538432, 4

Question Number : 33 Question Id : 6154759856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U A TR B A 3 G SeT o A % fon s 39 | i wen #

1) 9B wE (2) w=u
(3) Hi=H (4) Fums]
Options:

61547528429 1
615475258430, 2
E1547538421. 3
E1547538432. 4

Question Number : 34 Question Id : 6154759857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options:

61547528432, 1
E1547538424. 2
E1547538435. 3
51547538436, 4

Question Number : 34 Question Id : 6154759857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T H 317E RO 9199 =9 7

(1)  wIETg= FUHE SerFae (2) TIEES FIHE S2EE

(3) T a2 T2 (4) UTFE FUHZ ST
Options:

61547528432, 1
E1547538424. 2
E1547538435. 3
51547538436, 4

Question Number : 35 Question Id : 6154759858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The national agency for responding to computer security incidents as and when they occur.
18

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options:

E1547538437. 1
61547538438, 2
51547538435, 3
61547535440, 4

Question Number : 35 Question Id : 6154759858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U T 2 H gl g O meEtad 9l W ST At 7 o

(1) o T A (2) WFHud
(3) Hrdrw (4) M= =i = 3F 7
Options:

E1547538437. 1
E1547538428. 2
51547538435, 3
615475358440, 4

Question Number : 36 Question Id : 6154759859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options:

E1547538441. 1
B1547538442 2
515475358443, 3
61547535444, 4

Question Number : 36 Question Id : 6154759859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TeFeal 5§ Hif-29 TIErhe * Hu-o19 i =iad i

(1) FHAT 9 U F IR F OO

(2) FTEq SEATFIES (FHT4) Iegs9 § ]
(3) 91 vEEW # A U ® g 9HEE % YA H ATEE

(4) IR AU % HE % 6 e W

Options:
61547538441, 1
61547535442 2



E1547538443. 3
515475358444, 4

Question Number : 37 Question Id : 6154759860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Green India Mis=ion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
(3) 08 million hectares (4) 20 million hectares
Options:

E1547538445. 1
E154753844E. 2
61547538447, 3
615475358448, 4

Question Number : 37 Question Id : 6154759860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 02 fafe=m z7em (2) 06 Taferam sFem
(3) 08 THferEa s (4) 20 Mol s%em
Options:

61547528445 1
615475258446, 2
E1547538447. 3
E15475358448. 4

Question Number : 38 Question Id : 6154759861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The themes of some Sustainable Development Goals are

(a) Chmate action

(h) Sustainable cities and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
(e Green agriculture

(f) Reszponsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b). (c). (e) and (f)
(2) (b). (c). (e) and ()
(3) (b). (c). {d). (e) and (D
(4) (a). (b). (¢) and ()

Options:

61547535449 1
61547525450, 2
61547538451, 5
61547538452 4

Question Number : 38 Question Id : 6154759861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fidua g faFm Fa & 7w E -
(a) o™ FHE

(b)  HEWE TR 3R FEE

(c) A, =T 3R G55 HEIH

(d)  Fiwe fTFE @A 399 e

(e)  Eia F
(f) Il WU ST 3T
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(1)  (a). (b). (c). (e) 31 (P
(2) tbLtthenaﬁILﬂ
(3) (). (c). (d). (e) AT (D

(4)  (a). (b). (c) T (f)
Options:
51547538449, 1
61547538450, 2
61547538451, 3
61547538452, 4

Question Number : 39 Question Id : 6154759862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most dominant source of Benzene emissions 1in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options:

E1547538453. 1
E1547538454. 2
51547538455, 3
51547538456, 4

Question Number : 39 Question Id : 6154759862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SATEaTE (TiEett) i 7 4 s6E 3cae H GdigE TgE 1 6

(1)  Hw= z=am 2 Tome
3) W Fadw (4) Uz 3 AT
Options:

51547538453, 1
615475358454, 2
615475358455, 3
E1547538456. 4

Question Number : 40 Question Id : 6154759863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most important pollutants that cause degradation of water quality 1n rvers and streams
are
(a) Bacteria
(b) Nutrients
(c) Metals
(d) Total dissolved solids
(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) (2) (a), (b) and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c), (d) and (e)
Options:

E1547538457. 1
E1547538458. 2
51547538455, 3
61547538460, 4

Question Number : 40 Question Id : 6154759863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  =E

b)  TEF A

(c) HTd

d) T HA N IE

(e) I

fefertian fampea o & @il SUge 300 1 =999 hiraw

1) (). (b) 3 (¢) (2 (a). (b) #T (d)
(3 (a). ®). (d) I (e) (4) (a), (b). (c), (d) =71 (e)
Options:

BE1547538457. 1
61547538458, 2
615475358459, 3
61547525460, 4

Question Number : 41 Question Id : 6154759864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Database WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options:

51547538461, 1
61547538462, 2
615475358463, 3
E1547538464. 4

Question Number : 41 Question Id : 6154759864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5ld i-5_-1. L2 .E_r"if"“:! -S:H ey T"'-.'

(1) =9 7 =99 (2) =9 3% AES

(3)  =FE ¥AF TTH (4) F= 7 GlEg
Options:

51547538461, 1
E154753846%2. 2
615475258462, 3
E1547538464. 4



Question Number : 42 Question Id : 6154759865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The major barriers for access to higher education 1n India are :

(a) more opportunities of emplovment for less educated
(b) government policies

(c) language of instruction

(d) economic status

(e) competition from forelgn universities

() gender discrimination 1n soclety

Choose the correct answer from the options given below :

(1) {a). (b) and (c) (2)y (b). {c) and (e)
(3) (c). (d) and (D (4) (d). (e) and ()
Options:

61547538465, 1
E1547538466. 2
E1547538467. 3
51547538468, 4

Question Number : 42 Question Id : 6154759865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qE H w3 e o At | 5 A E o
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(b)  HCRRI it

(c) FIZTA FT 9T

(d) =i feafa
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Jr=r fau o fawedt O 9 wEl faew 9w

(1) (a). (b) # (c) (2 (b, (c) I (o)
3) (o). (d) 37 (D 4)  (d). (e) #7 (D
Options:

£1547538465. 1
615475258466, 2
E1547538467. 3
E1547538468. 4

Question Number : 43 Question Id : 6154759866 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity in the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options:

51547538465, 1
61547538470, 2
615475258471, 3
E1547538472. 4

Question Number : 43 Question Id : 6154759866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U F TH (SR AR HETs ge " THEan) F AgEn 3= e s e stee wm anEe

(1)  oie] 50 &9 @ we a
(B e o (4) Afvas FrE ==
Options:

B154753846%9. 1
61547538470, 2
615475358471, 3
615475258472, 4

Question Number : 44 Question Id : 6154759867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees. all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever may be the degree or diploma. autonomous colleges can grant them under

their own name but under the seal of an affiliated university

Options:
61547538473, 1
61547538474 2

61547538475 3



E1547538476. 4

Question Number : 44 Question Id : 6154759867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g gfies o foifeg § O -1 e od 27
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Options:

61547538473 1

E1547538474. 2
E1547538475. 3
BE1547538476. 4

Question Number : 45 Question Id : 6154759868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher

Education System :

(a) Equity
(b) Access
(c) 50% GER

(d) Excellence

Choose the correct option from those given below :

(1) (a), (b) and (c)
(2) (a). (c) and (d)
(3) (a). (b) and (d)
(4) (b). (c) and (d)

Options:
B1547538477. 1

E1547538478. 2
E1547538479. 3
51547538480, 4



Question Number : 45 Question Id : 6154759868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S e wone § T = foe At (AR g vE v) FefetEe w5 O w6 w5 e @

(a) G

(b) AT

(d) ElE:oll
= fow o faedt @ @ wE famew gihw

1)  (a). (b) 7 (c)
(2) (). (c) ¥ (d)
(3)  (a). (b) 37 (d)
4)  (b). (c) ¥ (d)
Options:
L1E47FE=ZE477F. 1
L1E47EZEAT7E. 2

615475384759, 3
51547538480, 4

Sub-Section Number: 4
Sub-Section 1d: 615475428
Question Shuffling Allowed : Yes

Question Id : 6154759869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
umportant role in the liberal crtique. But liberalism 1z neither the consequence nor the
development of these: rather. the market played. in the hiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade 1n the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore. an anlaysis to make
visible. 1n the form of evidence. the formation of the value and circulation of wealth—or, on
the contrary. an analyvsis pre-supposing the intrinsic invisibility of the connection between
individual profit-seeking and the growth of collective wealth—economies, 1n any case. shows a
basic ncompatibility between the optimal development of the economic process and
maximisation of government procedures. It 13 by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed 1t at the limit of governmental action. Liberalism does not derive from jurdical
thought any more than it does from an economic analysis. It 1s not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 6154759870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalizm as an offshoot of political economy
(3) Reality of market
(4) Political economy as a practice

Options:

51547538481, 1
61547538482, 2
615475258482, 3
E1547538484. 4

Question Number : 47 Question Id : 6154759871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The liberal critique examined the 1implications of

(1) market expansion (2) too much governance

(3) growth of polhitical economy (4) politics of marketisation

Options:



E1547538485. 1
61547538486, 2
61547538487, 3
615475358488, 4

Question Number : 48 Question Id : 6154759872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What kind of evidence was needed to make the liberal critique visible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth 1n supply of grain (4) Incompatibility of growth
Options:

E1547538489. 1
51547538450, 2
51547538451, 3
615475358432, 4

Question Number : 49 Question Id : 6154759873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 13 incompatible with optimal economic development?

(1) Plav of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options:

E15475384593. 1
51547538454, 2
515475384585 3
615475358436, 4

Question Number : 50 Question Id : 6154759874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The passage 1s indicative of the author's preference to

(1) economic hegemony of individuals
(2) Iimit government control of economics
(3) seek hberalism from jurdical thought

(4) promote individual profits

Options:



E1547538457. 1
515475384388, 2
51547538455, 3
61547538500, 4

Question Id : 6154759869 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension

TN % SAFYEE T SN 2 T uvAl % I S

I =it wew 98 & T awd % =9 ° 9w o9k fagm % =Y usHites sfegaen i seRae s o

WWMImdﬂlaqlﬂqm ﬂarlumeTl:[*' S T F = g | afes SRad TEr F e A
THAT 7 HAN AT Hocd H AT W FEAl 7, i g HarEi| SEEd wama)l & Ae 4 e
AT AR AfTF WEE ®Y H @rEW SANE % A9 % o @ Siad Gyl o I2vd 59 fag i

ufteAtard F o 799 W TR wHE SAcaias AR I off| o g9eg FEi S o9 % ol i

wWEg % =Y °§ g4 =9 31 o o favemn a1 5o fawia =mtem Ay e A1  EmEE o9 w5 T -

ToRE AT § AU A BEY | AANE FHAA1 % QA A Eren & qen o A g
T SUAH TAE T WORA] U] 1 ATasad EEa % wed gedd SEEe gﬁq—ﬂ:rh—fmﬁ
S o AT o TTSAE W W H mﬂwwa'lfﬂ'?m’ ST AT T T g I

SUETEE WO % s 5 s Fi ﬂtm;_ AT TR :.m?’ﬂ"? = '-E|T-|'J:|T-|T &% AT o qh EE I I ED

9" % 39" % =9 § ToE TG0 FA b IFH TH WAl FEEE F O % S agn) wE ¢

SEFATE 1 SEd A9 T ¥ AfaF =Es FEn ¥ 76 59| T8 TSHIaE g9 # FEn J6 6, deh
U i IERATE] TR % SN e T 2|

Sub questions

Question Number : 46 Question Id : 6154759870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SEFATE] T | fAefertad § ° e gire w87

(1)  STERERT % TROHEEY 3ERATE (2) TEHATTGF A qHOHEEY IEEEE
(3) =R =l Il (4) =HEEN F FY H UEHIOE ATSTEAT
Options:

61547538451, 1
61547538482, 2
E1547538483. 3
E1547538484. 4

Question Number : 47 Question Id : 6154759871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- -~ "

P~ w N i ol ] y s ~
ISFATG] TUTIAT H TohE [Hinardl =k TH1E =60 T3

(1) ST T TN (2) Feataw TmEA
(3)  TEAaE AY=EEEdT 1 A (4) ETARTER # T
Options:

51547538485, 1
61547538486, 2
E1547538487. 3
E1547538488. 4

Question Number : 48 Question Id : 6154759872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETETEl TATT 1 56 &9 54 % 70 | TR o WA i e o 7

(1) & = af=ed (2) =ATHTE AT F GEAAE
(3) e i g § FAE (4) T = wHe B
Options:

£154753845%9. 1
E15475384580. 2
E15475384391. 3
B1547538452. 4

Question Number : 49 Question Id : 6154759873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

srag AU AFE F ey e d g FH-s99 &7
(1) e | e

(2) EHUIEZE TR IC|

(3)  TeHIdH THIE
(4) oIS HERET FEUEE
Options:

E15475384593. 1
51547538454, 2
515475384585 3
615475358436, 4

Question Number : 50 Question Id : 6154759874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I Y AEF Fi hEeh 9 ST = Sgar & 7

(1) =i = Arfds e

(2) FYIE 91 TORE] Haa = J1Eg =0

~

(3) = 997 O 52 94 F2rarfEal #i 9o

(4) =IfFTTa =TT R w2

Options:

61547538497, 1
61547538498 2
61547525499, 5
61547538500 4

FPART 11 ©dia

Section Id : 615475132

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |1 d: 615475429
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6PN aeaNd &F 266 ?

(1) o () @
(3) @ 4) d
Options:

E1547538501. 1
B1547538502. 2
51547538503, 3
61547538504, 4

Question Number : 51 Question Id : 6154759875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



6R@E Q6T T 216E ?

(1) @ 2) <
3) @ 4) «
Options:

61547528501, 1
E1547538502. 2
E1547538503. 2
51547538504, 4

Question Number : 52 Question Id : 6154759876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘ARSI 9 F19Q g4 1T QMEER ARl @ 99 ?

(1) QEadd] (2) @a
(3) FEady (4) eue
Options:

E1547538505. 1
E1547538506. 2
61547538507, 3
61547538508, 4

Question Number : 52 Question Id : 6154759876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘ARSI 9 F19Q g4 1 QWEER el @ 99 ?

(1) Qeadd] (2) @i
(3) FEadY (4) ooug
Options:

51547538505, 1
61547538506, 2
61547538507, 3
61547528508, 4

Question Number : 53 Question Id : 6154759877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Q’ cma 9IR &E ?

1)  @ad ye (2) afeyd
(3) ERIGE & 4) @de yf
Options:

515475238509, 1



E1547538510. 2
61547538511, 3
51547538512, 4

Question Number : 53 Question Id : 6154759877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Q’ 6@a 9eIq 3B ?

(1)  <ad e (2) WG ya
(3) ARG 4@ 4) Qe yf
Options:

E1547538509. 1
E1547538510. 2
61547538511, 3
61547538512 4

Question Number : 54 Question Id : 6154759878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
6TUE ‘UIGAUATS QR ?

(1) AE = AR (2) Q0 = @0
(3) Q2 > FEal (4) 62499 = Q624
Options:

E1547538513. 1
E1547538514. 2
51547538515 3
61547538516, 4

Question Number : 54 Question Id : 6154759878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
6TUE ‘UIGAUATS QR ?

(1) AE = AR (2) Q0 = @0
(3) Q2 > FEal (4) 62499 = Q624
Options:

E1547538513. 1
51547538514, 2
51547538515 3
61547538516, 4

Question Number : 55 Question Id : 6154759879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“0’ 6@a 918 9and ?

(1) Q°9e 2) 999
(3) 2 9°9e (4) &g
Options:

E1547538517. 1
61547538518, 2
61547538519, 3
61547538520, 4

Question Number : 55 Question Id : 6154759879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
0’ e@a 99Ia 9axd ?

(1) Q9e 2) 9960
(3) & A°9e (4) QU
Options:

E1547538517. 1
E1547538518. 2
51547538519, 3
61547538520, 4

Question Number : 56 Question Id : 6154759880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
6RR6 0ad e 9o @d0 9°eee ?

(1) 5 [Iniaglal (2 Qe
(3) AERQ 20 (4) dagea @90l
Options:

51547538521, 1
61547538522 2
61547538522, 3
E1547538524. 4

Question Number : 56 Question Id : 6154759880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
cRat QFd e gaf 996 A°Ree ?

(1) AT (2) d&e
(3) AL PRQ 0 (4) <aYIeQ P96
Options:

E1547538521. 1



E1547538522. 2
61547538523, 3
61547538524, 4

Question Number : 57 Question Id : 6154759881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
6966 gOIe goa 63day ?

(1) il (2) QL
(3) dodql ge deie (4) QPP PIY LA 9@ I
Options:

615475285251
61547538526, 2
E1547538527. 3
E1547538528. 4

Question Number : 57 Question Id : 6154759881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6RRE geE goq eFday ?

(1) 2agIg (2) QB9
(3) dedial ge deie (4) QEOIR QI8 QA 906 Il
Options:

B1547538525. 1
61547538526, 2
61547538527, 3
61547538528, 4

Question Number : 58 Question Id : 6154759882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
R ¢ oM ¢IAUNER JBIF AFRRET dI6l ‘R geIe’ @FCIT @9 QR PR ?

(1) aygee @i (2) Qead g
(3) TFQEFISE CLARNUT (4) QLReAR 9@
Options:

E1547538529. 1
51547538530, 2
51547538521, 3
61547538532, 4

Question Number : 58 Question Id : 6154759882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



R ¢ oM 1N JBIF AFRRT diel ‘Qe9 gRIe’ FFQIT @9 Qo9 Fadem ?

(1) cygee @ (2) Qeed g
(3) TFIREFULE 64D (4) QLTI 99
Options:

E1547538529. 1
61547538530, 2
61547538521, 3
61547538532, 4

Question Number : 59 Question Id : 6154759883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
YF AITQ 987 et QI 2190192 7

(1) egedd sadeg @I1d (2) 9 6L QIR
(3)  6QIULE eGlya (4) 6TauEn fg
Options:

51547538533, 1
61547538524, 2
61547538535, 3
E1547538536. 4

Question Number : 59 Question Id : 6154759883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
YR AT 917 ¢ewt IRIa R19R1da ?

(1) egwdd sadeg @i1d (2) 4l 671 QIR
(3) 681998 &lya (4) 6Iquen dg
Options:

615475285352, 1
E1547538534. 2
E1547538535. 3
51547538536, 4

Question Number : 60 Question Id : 6154759884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Studies in Medieval Religion and Literature’- €20 Q@@ @9 7

(1) QL 98 L9 (2) 2RRE 915
(3) FEHIQIQN GO 4) 9802 9id
Options:

61547528537, 1
61547538538, 2



E1547538539. 3
51547538540, 4

Question Number : 60 Question Id : 6154759884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Studies in Medieval Religion and Literature’- 20 Q@U@ @9 7

(1) Q08 98 ALA9I8 (2) LIRS TG
(3) FEHIQIQ SO (4) QeI 4
Options:

61547528537, 1
61547538538, 2
E1547538539. 3
E1547538540. 4

Question Number : 61 Question Id : 6154759885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SHQEd quae ‘ad@del §ed’ 60 QIS £aR QIQI GAT QEE ?

(1 QE4€ GE (2) GLwIe @d4 918
(3) QEE UL (4) GARTLD G
Options:

515475238541, 1
61547538542 2
E15475358543. 3
E1547538544. 4

Question Number : 61 Question Id : 6154759885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
99984 aIoe ‘B0 g4’ 60 QIRQ 6aw IgI 9O 688 ?

(1) Qda 6Gal (2) PRAFIQ 9F4€ 919
(3) QE4 URe (4) GAURGLR G
Options:

E1547538541. 1
61547538542 2
615475358543, 3
E15475358544. 4

Question Number : 62 Question Id : 6154759886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q669 FIQ @9 9F% ‘The Mother QUQUIAR G BQAGT ?

(1) 69EQ el (2) @eaue daie
(3) £RE9 904 AR (4) <gee @ d°
Options:

E1547538545. 1
51547538546, 2
61547538547, 3
615475358548, 4

Question Number : 62 Question Id : 6154759886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Q67 FlQ @9 9@& ‘The Mother QUGYIAS GG UQAYR ?

(1) 6EEQ el (2) Qe At

(3) €399 PR FNE (4) <gee Qe d°
Options:
51547558545,
£1547538546,
61547538547
61547538548,

[ N

Question Number : 63 Question Id : 6154759887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
6FRE 6RISIEeY Gae aaeyd Q69 ?

(1) QAUFIOG (2) 499 9&d
(3) liafala] 4) 09 LA K4
Options:

5154752385459 1
61547538550, 2
615475258551, 3
E1547538552. 4

Question Number : 63 Question Id : 6154759887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

690 6alQIdiay Gae aueud 6% ?

(1) ai=lTals] (2) dge &g

(3) RS 4) 0 O K2



Options:

61547538549, 1
£1547538550. 2
E1547528551. 2
61547538552, 4

Question Number : 64 Question Id : 6154759888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

QURTESNR APRIGR, CTIRIE FNE 0 GRUFR FNUIeE fFe AQIFER Q00 ERIRAI UERITMIAR

QU R4 ?

(1) egFIaee (2) &goe 299
(3) FEME D 4) Q8 AN
Options:

E1547538553. 1
51547538554, 2
61547538555, 3
61547538556, 4

Question Number : 64 Question Id : 6154759888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

QURTCENR ATRIGR, CCITIPIE FNE 6 FRUER ANUIeE (9 AOIFER Qe ERIREI UERIIMICR

QI R4 ?

(1) o lalalxd (2) &g7ia 399
(3) FEQE ¥ 4) Q8 AL
Options:

61547528552, 1
615475258554, 2
E1547538555. 3
E1547538556. 4

Question Number : 65 Question Id : 6154759889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

E@UE ARG ARG PRIl 959 aaqud ?

(1) (NafaIagalata (2) QIRETY

(3) Q1 (4) QA4

Options:



E1547538557. 1
61547538558, 2
61547538559, 3
61547538560, 4

Question Number : 65 Question Id : 6154759889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6REE ARG AR a0 Q8¢ auQud ?

(1) 6dFIQ PEE (2) DIQETQ
(3) Q1 (4) aeqad
Options:

E1547538557. 1
E1547538558. 2
E15475385549. 3
51547538560, 4

Question Number : 66 Question Id : 6154759890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘ﬁﬁ@g@@ D€ T Qg EJ@E‘T‘G' er@mm@ﬁaﬁea ‘E}"‘EJB@ el U@RTE QI @417

(1) 2o (2) @R e
(3) QIR QAR (4) QEIFAQ
Options:

B1547538561. 1
61547538562, 2
61547538563, 3
615475358564, 4

Question Number : 66 Question Id : 6154759890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘2gRgea fIRIS T 0g 28GR FRIIQWIER AU AN MBEQ Q1A 2’42

(1) e (2) Q9o e
(3)  ARINQ AIQFR (4) QEGFAIR
Options:

61547528561, 1
E1547538562. 2
B1547538563. 3
51547538564, 4



Question Number : 67 Question Id : 6154759891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6RUE UG APESQ CIF °RRR P60 ?

(1) {sll=llo} (2) <999a4d
(3) J9E0 2 (4) 6dR QGG
Options:

£1547538565. 1
61547538566, 2
E1547538567. 3
B1547538568. 4

Question Number : 67 Question Id : 6154759891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6R6E UG AYESQ CIF °RRR P60 ?

(1) 6QIRI0 (2) <9048
(3) 200 29 (4) 6P QG
Options:

61547528565, 1
61547538566, 2
E1547538567. 3
E1547538568. 4

Question Number : 68 Question Id : 6154759892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR , CTRRF 6T 699 FOIQ AT @G0 ?

(1) LI (2) 2EeAL
(3) QYIS (4) QD
Options:

B1547538569. 1
61547538570, 2
61547538571, 3
E1547538572. 4

Question Number : 68 Question Id : 6154759892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FQAERANG , CTEF FPET 6RR TP AT QG0 ?

(1) ALY (2) 2EgL
(3) QAP (4) QNP
Options:

E1547538569. 1
E1547538570. 2
61547538571, 3
61547538572, 4

Question Number : 69 Question Id : 6154759893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
IR goadl 0gedq caut OF ?

(1) 0 B ALMNYE UODQ FEQUDY
(2) CIoRQ A0RAS BIPRE § ALeIgRa 2
(3) QI0RQ AR AEe AV 700 28 Taa F6C IE

(4) TSI RINR! IO AIUFEQ dRIdie 99

Options:

615475385731
61547538574 2
615475328575, 5
61547538576 4

Question Number : 69 Question Id : 6154759893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
dIow goR 9gedq caut 0] 7

(1) <JIOR 8 ALMNGE UG TEAUISY
(2) CI0RQ 9099 BgRE & ATGIREa 2
(3) dIORQ 296N 6o 9Dy 900 28 TR F6C QIE
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Options:

61547538573, 1
61547538574 2
61547538575 2
1547538576, 4



Question Number : 70 Question Id : 6154759894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
QYR8 IS QST EREE WCER TS FARE ?

(1) 3 {2) b
3 4 4 6
Options:

61547538577, 1
61547538578, 2
61547538579, 3
61547528580 4

Question Number : 70 Question Id : 6154759894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QR FAAUR QY EREE NCER TS FEEE ?

(1) 3 (2) b
(3) 4 4) 6
Options:

E1547538577. 1
E1547538578. 2
B1547538579. 3
51547538580, 4

Question Number : 71 Question Id : 6154759895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘@Y nerdl’ gaa aeder @4q ?

(1) AT L L (2) 64eng
(3) ATl en] e (4) ¢IH
Options:

51547538581, 1
61547538582, 2
61547538582, 3
E1547538584. 4

Question Number : 71 Question Id : 6154759895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) GlReElElRl (2) 6cdery

(3) QIRIERIR 4) eoge

Options:

&1547538581.
61547538582,
61547538583,
61547538584,
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Question Number : 72 Question Id : 6154759896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
B¢ 2l UGIEa FIafie aaa AI0Iges QeRa d9gan 6dlne aIgg FUQUES 2

(1) PeG6l (2) <@
(3) R0 FA4d 4) e 499
Options:

61547538585, 1
E1547538586. 2
E1547538587. 3
51547538588, 4

Question Number : 72 Question Id : 6154759896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
B¢ 2l UGIEa FIafie aaa AI0Iges QeRa d9gan 6dlne aIgg FUQUES 2

(1) PeG6l (2) <@
(3) R0 FA4d 4) e 499
Options:

61547538585, 1
E1547538586. 2
E1547538587. 3
51547538588, 4

Question Number : 73 Question Id : 6154759897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘991 601 AF9 F9R’ - FFOIT 696 FIT AON ?

(1) @eTd WId (2) di@ead

(3) 92004 9d 4) @999



Options:

61547538589, 1
£1547538590. 2
£1547528591. =2
61547538592, 4

Question Number : 73 Question Id : 6154759897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘991 601 AT Q19N - FIVIT P8 FIT ASD ?

(1) Wead Wid (2) dimead
(3) 2e0d QId 4) @919
Options:

61547538589, 1
61547538530, 2
E15475385591. 3
E1547538592. 4

Question Number : 74 Question Id : 6154759898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Padg 99f @0 USSR

6% AR 26
FIFLAC 6918 DREAF €IS
Qe -aa aiue 62
agige 1’

Ae g90 CRR SO0 Qo0 ?

(1) 1994 94 (2 a9 ade
(3) @=99ad w4 4) Qeeg ediore
Options:

E15475385583. 1
E1547538594. 2
51547538585, 3
515475385596, 4



Question Number : 74 Question Id : 6154759898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘PAdY 998 @0 USSR

6 RAFVIQ 9
FIFLAC 6918 DREE €I
dge -aa aGue 69
dedg I

A8 J9F 628 F9e0 QORI ?

(1) Ped Q19 2 996 gde
(3) RR0E QI 4) Y PA0RE
Options:

E15475385593. 1
515475385594, 2
51547538585, 3
615475385396, 4

Question Number : 75 Question Id : 6154759899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘G16FG6Q 6RO FRIdR’ defa Qedel @ 7

(1) QRDEING @9 (2) QRS @
(3) TFRIQEFNLE 6ARIUG (4) @WEG 6L
Options:

61547538597, 1
61547538598, 2
615475258599, 3
E1547538600. 4

Question Number : 75 Question Id : 6154759899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘GI6RFGER SEOM ADIUE’ de8a Qodel @a ?

(1) Qe@FedIa 9 (2) ©L&IHQ AR
(3) CTRIQSFILE §ARITUT (4) @EAC Y9
Options:

615475385397, 1
E15475385958. 2
E1547538599. 3
51547538600, 4

Question Number : 76 Question Id : 6154759900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘09 @RIGe’ SRR Fog ?

(1) atalis) (2) Qoud e &Lt
(3) QREIHR QF (4) Osrd g
Options:

615475238601, 1
61547538602, 2
61547538603, 3
E1547538604. 4

Question Number : 76 Question Id : 6154759900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘9 @RIAe’ FTIQ o ?

(1) al=alls} (2) Qoud e A&gIe
(3) PRETNR A (4) O=rd s
Options:

E1547538601. 1
E1547538602. 2
51547538603, 3
61547538604, 4

Question Number : 77 Question Id : 6154759901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TR 671690 QIR GO0 A IR QIF R4 7

(1) 9w 629 (2) ad agIea
(3) Qe (4) QRN QY

Options:



E1547538605. 1
61547538606, 2
61547538607, 3
E1547538608. 4

Question Number : 77 Question Id : 6154759901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR 671690 QIR A8 A IR QI R4 ?

(1) 2@ 699 (2) o4 gIee
(3) Q' 1T (4) sl @9
Options:

61547528605, 1
E1547538606. 2
E1547538607. 3
51547538608, 4

Question Number : 78 Question Id : 6154759902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
PRI QIE9E ‘PRAE FISYTER REAILRAR FID| FIDI F1AIEQ CLIRTT ?

(1) g 6 aoude (2) 2gEQ @ 198
(3) Q99 8 agea (4) gg 6 dgy
Options:

£154753860%9. 1
E1547538610. 2
E1547538611. 3
BE1547538612. 4

Question Number : 78 Question Id : 6154759902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
PRI QIE9E ‘PRAE FISYTER REAILRAR FID| FIDI F1AIEQ CLIRTT ?

(1) g @ aqu@e (2) 2EQ 6 g1gd
(3) Q991 8 age (4) gg 6 dgy
Options:

£154753860%9. 1
61547528610, 2
E1547538611. 3
BE1547538612. 4

Question Number : 79 Question Id : 6154759903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) RSYQE - 7 G 8T
(2) caugeel - 9916 499
(3) QAIRQ - AAULS B A1

(4) AT 6 A8 - Qi 6 g9

Options:

61547558613, 1
61547538614, 2
61547538615 2
61547538616 4

Question Number : 79 Question Id : 6154759903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

G6e 499 AIRE F16Q 6906 Adgs 96w ?
(1) «9YQd - 2ga 6 a89

(2) cougEIel - 9916 499

(3) QNEINQ - AT B NI

(4) g 6 Add - qrll 8 g8

Options:

61547538613,
61547538614,
£1547538615.
1547538616,

o P

Question Number : 80 Question Id : 6154759904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ﬁ@@ ¢y, @@t WWAoE, ©l6eel, clwleh, YFleee, Clgw 9de6, wWRIeE, d2l6q, 69066 i
PIOIIC 696 FITR QORI ?

(1) AP FILIAG (2) edlougly geua H4g
(3) QTS 9l (4) QIEREY FEdIQ da
Options:

61547538617, 1
61547538618, 2
61547528619, 3
E1547538620. 4

Question Number : 80 Question Id : 6154759904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

‘Ag0 (19, FENEE, FGNER, WCER, WIS, QFINER, C9eaR6n, AR, dUsq, oqsa  -—-
FIOIIT 600 ISR QP 7

(1) AR AMANG (2) ediuey gaue {4
(3) QTS Qe (4) QUERRY FESIQ Q)
Options:

61547528617, 1
E1547538615. 2
51547538619, 3
B1547538620. 4

Question Number : 81 Question Id : 6154759905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Grado coe gat 6Fa APeYn gan Pewia ga ?

(1) Q19 YA (2) QdaEe
(3) AREIO 6@ 4) ST
Options:

61547538621, 1
E1547538622. 2
E1547538623. 3
E1547538624. 4

Question Number : 81 Question Id : 6154759905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Gaado cea gat 6Fa APoya gan Pewia ga ?

(1) 219 Qa4 (2) QQUES
(3) ARG 6 (4) QO
Options:

E1547538621. 1
B15475386822. 2
61547538623, 3
615475258624, 4

Question Number : 82 Question Id : 6154759906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QUIPHY = AR - 90 JRAER @8 QTR ?

(1) AIMIE6 oqid (2) QU89 eRud

(3) dzyige 6mid (4) daige exudd



Options:

61547538625, 1
1547538626 2
E1547538627. 2
61547538628, 4

Question Number : 82 Question Id : 6154759906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QUIPAY = QUL - 90 YRAER @' QTR ?

(1) ZIIE6 eIkl (2) fldiga exudd
(3) dslga emid (4) daiga equd
Options:

B1547538625. 1
B15475386826. 2
E1547538627. 3
61547528628, 4

Question Number : 83 Question Id : 6154759907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6aQ ZERR ‘QSICAR’ gade qeue ?

(1) Qaagy (2) =ndal
(3) QAICE (4) TaQIEn
Options:

BE1547538629. 1
61547538630, 2
61547538621, 3
61547538632, 4

Question Number : 83 Question Id : 6154759907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
6aQ ZERQ ‘QSICAR’ gade quue ?

(1) Qaaql (2) endal
(3) QLGS (4) g€
Options:

51547538625, 1
61547538630, 2
61547538621, 3
61547538632, 4

Question Number : 84 Question Id : 6154759908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
ogaa ARG Sgaeg 6we QIF6a 950 *08

(=)

?

(1)  QIIL SNe (2) fegeudizl g
(3)  dgene (4) dal audn ane
Options:

51547538633,
61547538634

E1547538635.
51547538636,

o LI

Question Number : 84 Question Id : 6154759908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ogaa ARG Sgaeg 6we QIFsa 950 F08

(=)

?

(1)  QIIL NS (2) Feg@udizl g
(3)  dgene (4) dai axudn e
Options:

61547538633,
61547538634,

51547538635,
E1547538636.

o LI M

Question Number : 85 Question Id : 6154759909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FEHIVIR Q1 CRISPFNDILIG EREC NGER TS PAEE ?

(1) Al (2) g
(3) @2 4 e
Options:

BE1547538637. 1
61547538638, 2
61547538639, 3
61547525640, 4

Question Number : 85 Question Id : 6154759909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEHIVIR Q1 CRISFIDIGF EREC NCER TS POET 7

(1) Al (2) g
(3) 2e 4 Qe

Options:



E1547538637. 1
61547538638, 2
51547538639, 3
61547525640, 4

Question Number : 86 Question Id : 6154759910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘UFeT 909 AP’ - @ TI0 98 (PF CRISTIS ?

(1 zaude (2) ggae
3) fawde 4) LFAISF
Options:

515475238641, 1
615475358642, 2
E15475358643. 3
E1547538644. 4

Question Number : 86 Question Id : 6154759910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘UHeT 999 AP’ - @ g0 9994 0T RIERIS ?

(1) ZayiEle (2) gg9e
3) abacEe 4) VAP
Options:

61547538641, 1
615475358642, 2
E1547538643. 3
E1547538644. 4

Question Number : 87 Question Id : 6154759911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

6QEE ERIRRIAAIR 7 dode 69Q ?

1) aege 2) <BAga
(3) e (4) 6di9
Options:

615475258645, 1
E154753864E. 2
E1547538647. 3
51547538648, 4

Question Number : 87 Question Id : 6154759911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

6RUC 6AITAGIATIR 7 4ade 688 ?

(1) gl (2) QIeqig] Gl
(3) Wy o (4) edia
Options:

E1547538645. 1
51547538646, 2
B1547538647. 3
6154753586458, 4

Question Number : 88 Question Id : 6154759912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
26eq 6900 CRIRINIOTIER cFE O] gequdl 7

(1) Qe &6 (2) @ IIT 4B
(3) d°QeQIRI91 &0 4) Goe I a6a
Options:

E1547538645. 1
E1547538650. 2
51547538651, 3
51547538652, 4

Question Number : 88 Question Id : 6154759912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
21600 90T EAINIMICTIER 696 OFa Jeaual ?

(1) Q&2 261 (2) R YT 20
(3) d° QRIS 20a1 4) Goe Fddg a6al
Options:

61547528649, 1
E1547538650. 2
E1547538651. 3
B1547538652. 4

Question Number : 89 Question Id : 6154759913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  onae edlegd 9F aiel (2) 691910 g 9-960901 AIR
(3) Q29 cIge 9l aiel @)  uY BIPNISl dig
Options:

51547538653, 1
61547538654, 2
£1547538655. 3
E154753865E6. 4

Question Number : 89 Question Id : 6154759913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QANERER ‘Ged’ LR 069 ?
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(3) Q29 cIge 9l aiel @)  uY BIPNISl dig

Options:

61547538653,
61547538654,
£154753865E.
E154753865E.
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Question Number : 90 Question Id : 6154759914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
CRISTITKIR FUOF 9Reg 92 4fde @4 691h QIFIEE REE ?

(1) eI 6EIEET (2) T=dg
(3) deel (4) EANED
Options:

61547538657, 1
E1547538658. 2
E1547538659. 3
51547538660, 4

Question Number : 90 Question Id : 6154759914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 6@ 6R1IGT (2) o=dg
(3) dee (4) eaIeg
Options:

E1547538657. 1
E1547538658. 2
51547538659, 3
61547538660, 4

Question Number : 91 Question Id : 6154759915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘T2 A0d Qief A9 geal’ - JIeta 9°gE e AIeE d8@ ?
(@) @Yl
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4 (a6
Options:

51547538661, 1
61547538662, 2
E1547538663. 3
E1547538664. 4

Question Number : 91 Question Id : 6154759915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘T2 aed Qer 4ee 9o’ - aeta a°gd 699 19w 989 ?

(a) @@
(b) 9 9990 9991
(© g9l

(d) QelGh QIPIER 6%

OF Q80 P804 @9

(1) (b 8(e)
(2) (a) @ (d)
3 (e
4) (a) 8 (c)
Options:

61547528661, 1
E15475386EZ. 2
E1547538663. 3
51547538664, 4

Question Number : 92 Question Id : 6154759916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘gaIe 981nd’a 998 caw gEw 999 QUF ?

(a) dMLIULE AIYQ
(b)  NIEYLS QUSYQ

(c) HAERC QURYIXIL

(d) YRCF CIyesaT

0g 960 78104 99:
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(2) (a) G (b)
(3) (a) 8 (c)

4 (@06(@
Options:
1547538665, 1
E15475328666. 2
61547538667, o
61547538668, 4



Question Number : 92 Question Id : 6154759916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘gaIe 981nd’a 998 caw gEw 999 QUF ?
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(1 (6@
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(3 (a)8(c)
4) (@6(@

Options:

61547538665,
£1547538666.
1547538667,
51547538668,

o LIPS

Question Number : 93 Question Id : 6154759917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ORI FPERRIE ABGY QORI IDe 696 QIR A ?

(a) 'PEle 6FIP@I AT 6Bl | QARG e agal’
(b) dULeIT I
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(d ¢da oe AT QAT

0% 280 S610d @9
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Options:



E154753866%9. 1
B1547538670. 2
61547538671, 3
E1547538672. 4

Question Number : 93 Question Id : 6154759917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RERI FPERVIE ARG QPR IDe 6RW JIR A°US ?
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Options:

615475386649, 1
61547538670, 2
E1547538671. 3
E1547538672. 4

Question Number : 94 Question Id : 6154759918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2 (6@
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Options:

61547538673, 1
61547538674 2
61547538675 2
1547538676 4

Question Number : 94 Question Id : 6154759918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
B1547538673 1



E1547538674. 2
61547538675, 3
B1547538676. 4

Question Number : 95 Question Id : 6154759919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘QAITIE QErFIE’ gasiea e (g seagee OF ?

(a) ‘RS QCIG A ABAR
(b) goaIel QUEQI90 QI
(c) doa19IR F5% 490

(d) FUEQILRE DOl QIF QUAIFIS

O aen 38104 aa:

(1) (a) @ (c)
(2) (a) G (b)
(3) (b) @ (c)

4) (06 (d)

Options:

61547538677, 1
1547538678 2
15475328679 2
61547538680, 4

Question Number : 95 Question Id : 6154759919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘QAIFIZ QErFE’ gadea GF fuQ seugee OF ?

(a) ‘R QCRQ g AR
(b) degIol QUEIPE qUa
(c) doqidip Fee 496

@ @06QIees deIE QIFl QRIS
0Q aam P& a:

1 (@6
(2) (a) 8 (b)
3 (@
4 (©@6@

Options:
El15475E38677F. 1

E1547538678. 2
B1547538675. 3
51547538680, 4

Question Number : 96 Question Id : 6154759920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRTAVILE QINER JoFe ‘9aIedy’ A Uwea 6a6 FeE KUY ?

(a) @IS ga
(b) QERIN CIGYRE QUL
(c) o0e ga

(d) R0 RNF QEADG

09 Qa0 FEIRd @

1)  ®6(

(2) (a) & (b)

3 ®ae(@

4 (@8e@d
Options:

61547538681, 1



E1547538682. 2
61547538683, 3
61547538684, 4

Question Number : 96 Question Id : 6154759920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRTAVILE QIFER JoFe ‘geedy’ uaen 6a6 e AaYS ?

(a) @IS ga
(b) QERIG SIguRE QU
(c) o0e ga

(d) R0 RNF QEADG

O aeq FEI0d 99

(1) (b) @ (c)
(2) (a) & (b)
(3) (b) & (d)

4) (a)@(d)
Options:
61547538681, 1
61547538682 2
15475328882 2
61547525654, 4

Question Number : 97 Question Id : 6154759921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



696 @6 999 ‘caINRia |9 A°gs ?

(a) 99 6949
(b) FRRNQERR
(c) o (k]

(d) FIFSIR

OF a8 F&I1048 a9 :

1 ®B6
2 (@8
(3) (@Bt
4  ()E(e)

Options:

£154753868E.
E154753E68E.
1547538687,
51547538688,

o LIRS

Question Number : 97 Question Id : 6154759921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6TE RE 990 ‘caINnia |9’ g°ge ?

(a) QP9 6949
(b)  FeRPER
() @IgZe

(d) ISR

0F e F6I10d 99 :

1 ()6
2 (@Be(b)
3 (@6
4 (E(e)

Options:
61547538655, 1



E1547538686. 2
B15475386887. 3
51547538688, 4

Question Number : 98 Question Id : 6154759922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
28 d°aeaieie (Post-Structralism) 98¢ 56918 600G A°U8 AR ?

(a) 9. 1. 89199
(b) RN 620G
()  sau@l Q2

(d) fdeaq e

O 90 8104 99 :

(1) (b)), (e) G (d)
(2)  (a). (b)B(d)
(3) (c).(b) G (a)

4 (a). (@6
Options:
615475336589 1
E1547528680. 2
E1547538691. 3
615475386592 4

Question Number : 98 Question Id : 6154759922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



28 g°eeiie (Post-Structralism) 98 56918 6x97I0F U8 FAUAQDIRAR ?

(a)  2e. 9. f91eq
(b) RN RS
(©  eauml Q12

(d) fdedq e

0 e 76104 @6 :

() (b). ()8 (d)
(2) (2. (b)B(d)
(3) (0. (b)G(a)

(4) (a). (c) G (d)

Options:

61547538689, 1
61547538690 2
1547538691 2
E15475328892. 4

Question Number : 99 Question Id : 6154759923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A6AI9E QA AF0 OF 694 Q9 @ 4°99

(a) EOITROR
(b) @l ERIRROR
(c) QIGdl

(d) 2RI A0S

O aaa G104 99 :

1 (@6
2 (B8
3) (@6

4 (@6

Options:
61547538693, 1
61547538694 2



E15475386395. 3
515475386396, 4

Question Number : 99 Question Id : 6154759923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Q64198 QIdE 490 OF) 699 99 @ 9°U9

(a) CRTRER
(b) Clel EEIPR0R
(c) QIEal

(d) ZEIFIQ A°0Q

OF a8 FFI08 a9

(1) (a) G (d)
(2) (b) G (c)
(3) (a) G (c)

4) (08
Options:
E15475386493 1
61547538694, 2
61547538695 2
61547538696, 4

Question Number : 100 Question 1d : 6154759924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



66 929 969 0R@6dIR 998 QIQI Q69 ?

(a) ©IgRY
(b) P
()  @¢imy
@ e

Og @em 56106 @ -

1 (@, (6@
@)  (b), (c)G(d)
(3) (a).(c)B(d)

4) (a), (b) G (d)

Options:

61547538697, 1
61547538698, 2
1547538699 2
E1547528700. 4

Question Number : 100 Question Id : 6154759924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
6@ ¢a7 gEa ALR6dIa 998 9101 AGQ ?

(a) ©I195¢
(b) I
(¢ Gy
@ e

Of a0 59104 9 :

1) (@) (6
2 (b). (G (d)
(3 (a) (c)6(d)

4 (a). ()G

Options:



E15475386597. 1
615475386398, 2
515475386595, 3
E1547538700. 4

Question Number : 101 Question Id : 6154759925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

66 QR 0l TR AL ABO FNIET QA 656 ?

(a) Qe
(b)  AASE AP
© IR g a9l

(d) FNRE?

O een 8104 99 :

(1)  (a) 8 (b)
(2) ()G
(3) (08
(4) (b) @ (c)

Options:

1547538701, 1
E15475328702. 2
61547538702,
61547538704, 4

Question Number : 101 Question Id : 6154759925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



696 9 FI0I IR ISP QSR TNES QI 9FO ?

(a) QI9eNe
(b) AN AP
© IR g9 a9l

(d) RARE

09 286 A8 99

(1) (@D
(2) (b) B (d)
(3) (c) G (d)
(4) (b) @ (c)
Options:

15475235701, 1
1547525702, 2

61547538703, 3
515475358704, 4

Question Number : 102 Question Id : 6154759926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Q¢ QeI g 6REYER QU6QIZR ARE QTR P62 ?

(a) @° 98
(b) E@4 P
(c) D

@ Qe

07 a0 G8104d a6

(1) (b) & (c)
(2) (a) G (b)
(3) (c) @ (d)

4) (a) @ (c)

Options:
61547538705, 1



E1547538706. 2
61547538707, 3
61547538708, 4

Question Number : 102 Question Id : 6154759926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Q¢ QeI g 6REYER QU6QIZR ARE QTR P62 ?

(a) G A8
(b) E@4 P
(c) DI

(d Qe

07 a0 G8104d a6

(1) (b) & (c)
(2) (a) G (b)
(3) (c) G (d)

4 (a6 (e
Options:
61547538705, 1
61547538706, 2
E15475328707. 2
61547528708, 4

Question Number : 103 Question Id : 6154759927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q7 696 QORI gEg 6Q1T1RIRl PRadic 86 d°de FAIIRAIRS ?

(@) geee odd
b)) 199 QLIS ARIERSR
() G2 WY

d 92 @59

Og e 6104 99 :

(1) (b). (c) B (d)
2 (@ @E06[d
(3) (a)(b)B(d)

4) (a) (b) @ (c)
Options:
61547538709, 1
61547538710 2
61547538711, 2
61547538712 4

Question Number : 103 Question 1d : 6154759927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Q7 698 QORI gEF 691Nl fRAdIE 986 4°ds FRAIKIRUIRS ?

(a) gIeee odd
b)) 199 QLS ARIERDR
() a@el Iy

d 99 @89

OF 80 F§I104d 99

1 (). @8
2 (@ (@06
(3)  (a)(b)B(d)
4 (a)(b)B(c)

Options:
E1547538709. 1



E1547538710. 2
61547538711, 3
61547538712 4

Question Number : 104 Question Id : 6154759928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

@7 699 ¢ae gow 999 9aAIeR QKN 4°g8 aF8 ?
(a) QUMIPIEIE 2O dowl

(b) GEaR deeq 6 aeuey 4o

(c) gl aoed

(d) ¢ 308 ceead 94

0% 206 FFI10d 9

(1) (b) 6 (c)
(2) (a) 6 (b)
(3) (c) G (d)

(4) (a) 8 (c)

Options:

£15475358713 1
61547538714, 2
61547538715 2
61547538716, 4

Question Number : 104 Question 1d : 6154759928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



@7 699 IR gow 980 9aAIeR PN A4°g8 6F8 ?

(a) QUAIPIEIE Z0RY dowl
(b) GENIQ deeq 8 AU deR
(c) Yol aued

d) ¢ @98 qead @F

0% Q60 G604 99

(1) (b) 8 (c)
(2) (a) G (b)
(3) (c) G (d)

(4) (a) 8 (c)

Options:

615475387131
61547538714 2
61547538715 2
15475328716 4

Question Number : 105 Question Id : 6154759929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
694 g@wsn 909 ¢ AewId ?
(a) 2%

b) QeI
(€ 999 gl

(d) dslis gaely

0% Q60 G610d 99

(1) (a). (c) B (d)
(2) (b). (d) 3 (c)
(3)  (b)., (a) B(d)

4) (a), (b)G(c)

Options:
B1547538717. 1



E1547538718. 2
61547538715, 3
B1547538720. 4

Question Number : 105 Question Id : 6154759929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
6@e QEwen 9@Ea 08 ageId ?
(a) T4
(b) Qs
© 92096 Fal

d NS 2R

0% 206 FFI10d 9

1) (a). © 6@
(2) (b), (d) @ ()
3 (). (a6

(4) (a), (b) G (c)
Options:
615475387171
61547538718 2
615475387149 2
615475328720, 4

Question Number : 106 Question Id : 6154759930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



66 Qa6 FEILI QU QORI TGS ?

(a) Qe gaa com
(b)  6REQ1 FGYI
(c) GEFE PRITR

(d) @ @2 ? PRSI

0% 266 AEI0d8 9

(1) (b) B (d)
(2 @
(3) (c) @ (a)
4) (e 8 (b)
Options:

61547538721, 1
1547538722 2

61547538722 3
E1547538724. 4

Question Number : 106 Question Id : 6154759930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

66 Qa6 FEILI QU QORI TGS ?
(a) Qe gaa com

(b) 6TV B

(c) GEFE PRITR

(d) @ @2 ? PRSI

0% 266 AEI0d8 9

(1) (b) B (d)
2 (@6
(3) (c) G (a)
4 (©8®)

Options:
61547538721, 1



B1547538722. 2
B1547538723. 3
B1547538724. 4

Question Number : 107 Question Id : 6154759931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

694 9% FIRNIAE JFRIATT QIR P62 7

(@  Geh dga

(b) PRI
(c) QST
(d) asgigm

07 280 G9104 90

(1) (b) G (d)
(2) (a) G (c)
(3) (a) G (b)

4) (28
Options:
61547533725 1
E1547538726. 2
B1547538727. 3
615475387208 4

Question Number : 107 Question Id : 6154759931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



699 gET FNIORE IFRINTE QTR P62 7

(@  aeh dga

(b) ZRdIR
(c) QNG
@  SIFN

0F @80 FFI04 99

1 ®B6@
2 (a8
3) (a8 ()

@ (26
Options:

615475387251
61547538726 2
61547538727 3
E1547538728. 4

Question Number : 108 Question Id : 6154759932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘cioel Q157 dB0 6aE QAT 9°U8 SUIAIRETISR ?

(a) 610 el

(b)  diwad
(c) RIS
(dy o829

0% 288 58104 9

(1) (a) @ (b)
2 (e
(3 (@8
4 (b)G(c)

Options:
E1547538729. 1



E1547538730. 2
61547538721, 3
61547538732, 4

Question Number : 108 Question Id : 6154759932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Gieel QIS 490 6wE 9T 2°U8 FAILINRUIER ?

(a) 6910 @Rl

(b) {1=qdl
(c) [3lmls
(d) @

09 980 G804 99

(1) (a) @ (b)
2) ()6
(3) (c) @ (d)

(4) (b) @ (c)
Options:

61547538729, 1
61547538730 2
1547528721, 2
615475328722 4

Question Number : 109 Question Id : 6154759933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR Q90 ALY IR AT 699 9P 9°gS Faude ?

(a) deRge
b)) QEe
(c) QIER

@ eova

0 aen A8104 @6

(1) (b) & (c)
(2) (a) G (d)
(3) (c) G (d)

(4) (a) G (b)
Options:
615475387321
61547528724 2
61547528735, 2
61547538736, 4

Question Number : 109 Question Id : 6154759933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AR Q90 AR IR AT 699 9P 9°gR Faude ?

(a) deeee
by QEe
(c) QUER

d  ewE

0F 960 A8I104 99

(1) (b) @ (c)
(2) (a6
(3) (6

(4) (a) G (b)
Options:
61547538733, 1
61547538734 2



E1547538735. 3
B1547538736. 4

Question Number : 110 Question Id : 6154759934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
[f=la] GJ_@E‘ B@EJI FUAIEE EVIF VLR J2I2 aNLa8 ?
(a) @ = J9@
(b) m = @
(c) R = Todl

(d) dim = <l

07 80 58104 @6

(1)  (a), (b) B(c)
(2) (b)) B(D
(3) (a). (b)B(d)

4) (b (c)@(d)
Options:
1547538737, 1
61547538738 2
61547538739 2
61547538740 4

Question Number : 110 Question Id : 6154759934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



696 Q@9 632 AWIER AT A9 g AL ?

(a) 496 = d0@
(b) 9@ > 9d
(c) MR = o4

(d) dw = el

0% Q80 38104 a9 :

1) (a).(b)B ()
2) (). (c) B(d)
(3)  (a) (b)B(d)

4 (). (0@ (d)
Options:
15475387371
E1547528738. 2
61547528729, 5
61547538740, 4

Question Number : 111 Question Id : 6154759935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
69 9Ee QI8¢ Q9 ZIGe 69 2 4 ?

(a) =l
b) @

) @09
(d) RQ

09 28 AR08 9 :

(1) (a)6(b)
2 (®Ba()
(3) (c) & (d)
4 (6@

Options:
61547538741, 1
61547538742 2



E1547538743. 3
B15475358744. 4

Question Number : 111 Question Id ;: 6154759935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
68 gER QI9e Qdq TGS 06 2 & ?

(a) i
b) @

) @09
(d) @E9Q

07 286 FFI0d 9

(1) (a)8()
(2) (b) @ (c)
(3) (c) G (d)
(4) (a) 8 (d)

Options:

1547538741, 1
E15475328742 2
61547528742 5
61547538744, 4

Question Number : 112 Question Id : 6154759936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘gRf60 dow g1 *86R9a AR - FUERYes d90 6w6 B9 gow 9°ge ?
(a) QgQlage Igdds 6 @RRRIG TGRS

(b) RERF AR B IR AR

(c) cad-eil (Re deead 6 edqe 699 ARq dqend

(d goerked SieicRs 6 @d°eqId AR dRIemd

0% 286 FEI0d 9

(1) (a6
2y (b6
(3) (a6
4) ()G (b)



Options:

61547538745, 1
61547538746 2
E15475328747. 2
61547538748, 4

Question Number : 112 Question Id : 6154759936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘GRA60 dow g1 *06R9Q AR - RACRYeE dP0 679 WY goe 4°g8 ?
(a) QgRIage SIgaIde 8 AR AR

(b) RERF dRIERd @ Ieaga dEead

(c) Qed eniel FRQ deKad 8 gerqa 699 aa daemy

(d gorced dRIeRd 6 @d°eqIE ATee daead

07 288 A%104 9 -

() (a)8(e)
2 ()8
(3) (a)8(d)
4  (©8(b)

Options:

61547538745, 1
61547538746, 2
61547538747, 2
61547538748 4

Question Number : 113 Question 1d : 6154759937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FEQINGE QAT ‘AR AR QT SiE60 6R6 929 JET QU ?

(a) 91 99 AGILR
(b) 991 @A QIVAAIQ JAF QICR
(© 860 QP9I YT IS

(d) JIOFO R FSRICRR 2ITFE0 491 gede

0% aeq G&I0d 9

(1) (@8
(2) (@08 (b)
3 (©@t@d
4 (@6(@

Options:
154753574591

E1547538750. 2
51547538751, 3
61547538752, 4

Question Number : 113 Question 1d : 6154759937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FERINGE QAT ‘AI9Q ARR’ QIPE SR60 6RE P9 JET QU ?
(@) 91 9@ AERR

(b) <9 4901 QI IR e QTR

()  986Q QO YQL YIS

(d) JIGHEF F2RI0eR HITFsn 99 geode

09 286 FFI08 99

(1) (@8
2) (28 (D)
3 (@6
4) (@6

Options:

61547538749, 1
61547538750 2
61547538751, 2
E15475328752. 4



Question Number : 114 Question Id : 6154759938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Y° Y° WD AIDI6A4 £TUQAAT AR

¥

- 69W gEW6R I9IR 9°98 GRE ?
(a) QUIRIeEa &

(b) QARG
(© oo a'g e

@ 90

07 @en G606 9 :

1 () E(e)
(2) (a6
(3 (e

4 (@6

Options:

1547538753, 1
61547538754 2
61547538755 2
61547538756 4

Question Number : 114 Question 1d : 6154759938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘g° ¢° SIa AIBICAS 6TQTR UR° ' - 670 JIER I9IQ A°9S OFF ?
(a) dEAIRER @

(b)  drjel
(© aeeeEq d'y 2

@ 9o

OF aen 361048 a9 :

(1) ()G (e)
(2) (@6
3 M

4 (@6

Options:
61547538753, 1
61547538754 2



E1547538755. 3
61547538756, 4

Question Number : 115 Question Id ;: 6154759939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

64 gRYEw 0Tl QdT QA A9 ?
(a)  UOSQ G9! G 6RIRY TG

(b) QPG G GQY T

(c) gaeiel @ BIQAITe SHel

(d) YAUSE! @ BTREHIY GGl

0% Qa0 H610d 9

(1) (a6
(2) ()6 (d)
(3 (96 @
4 (@8

Options:

E1547538757.
1547538758,
61547538759,
61547538760,

[ N S

Question Number : 115 Question Id ;: 6154759939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

64 gRYEw 0Tl QdT QA A9 ?
(a)  UOSQ G9! G 6RIRY TG

(b) QPG G GQY T

(c) gaeiel @ BIQAITe SHel

(d) YAUSE! @ BTREHIY GGl

0% Qa0 H610d 9

(1) (a6
(2) ()6 (d)
(3 (96 @
4 (@8



Options:

61547538757, 1
61547538758 2
E15475328759. 2
61547538760, 4

Question Number : 116 Question Id : 6154759940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘@’ 29 900 ‘94’ 99a 9UYS AU QU X4 |

‘@’ ag ‘4’ ag
(a) 6@ U JI9Y (1) 6MARID I
(b) GU NV QUSY (1) CALKIER GuEl
(c) G2 WAL (1) @ae A4
(d <& IFIey (iv) eQIIRIEl RRa]

Q9 99 9Ue Fkig QUYs 9805 Y996

(1) (a)- (1. (b)-1. (c)- ). (d)- (v)
(2) (a)- (). (b)- (1), (©)- av).  (d)- (1)
(3) (a)- (v). (b)- ().  (c)- (1), (d)- (m)
(4) (@-a). (m)-Gv). (¢- ). (- @
Options:

61547538761, 1

61547538762, 2

E15475387ES. 3
E1547538764. 4

Question Number : 116 Question Id : 6154759940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘@’ 29 200 ‘94’ 99a QUgYS AU QU *Q |

‘@’ ag ‘a0’ af
(a) 6@ U I (1) 6IENS AR
(b) G NV QU 1) daRKIER QU
(c) 6P WAL () Sege dg
(d) <& ey (iv) eeIQIel RRad)

Q9 99 9Ue Fkig QUYs 9805 Y996

(1) @-@. G-@. @©- ). - @
(2) (a)-). (b)-@. (0-av). (@d)-(w
3  (@-av). (b)-@. (o)- Q). (d)- (111)
4 (a)-@. (b)) (¢-(u. (@ @
Options:

61547538761 1

61547538762 2

61547538763, 3
E1547538764. 4

Question Number : 117 Question Id : 6154759941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AUV AR dRI8 UPAIST ‘@’ 92 990 ‘¢’ 200 AAYS AU FQAE A |

‘@’ ag ‘@’ aa
(a) Q9o das 1) 29dy
(b) Co9n daig (1) Q699
(c) &d¢ daie (m) 9ie
(d) g9 a0ead gaw 4919 (1v) 6geaR

QY 9@ Q@ Fug 2UYs 2008 0w :

(1) (@-@. (-G (o G). (d)- (v)
2)  (a)-@). (b)-G). (¢)-av). (d)-@
(3)  (a)-@). (b)- (). (c)- Q). (d)- (1)
(4) (a)- v). (b)- (). (¢)- @). (d)- (@)



Options:

61547538765, 1
1547538766 2
E154753287EY. 2
61547538768, 4

Question Number : 117 Question Id : 6154759941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QNIQ g8 des gl ‘@ 99 999 ‘¢’ 240 edye 999 Fqdd @ |

‘@’ ag ‘@’ aa
(a) Q9o das 1) 29dy
(b) 92an dais (1) Q69
(c) &d¢ daie (m) 9ie
(d) g9 9094 ew 813 (iv) 6Y69R

QY 998 9Ue Fkg 2UYs 2006 F0ee :

(1) (a)- @M, (b)- (. (o)-(@D). (d)- (W)
(2) (@-@, ()-@). (©-a). (@- O

(3) (a)- (). (b)- (iv). (c)- (). (d)- (1)
(4)  (a)-@Gv). (b)- (). (¢)- (). (d)- (@

Options:

61547538765, 1

61547538766, 2

E15475387EY. 3
E1547538768. 4

Question Number : 118 Question Id : 6154759942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘@’ 22 990 ‘9’ 99 VOYe AU FQUd @Q |

‘@’ ad ‘“’ aga
(a) G 96a eIlgald (1) Q6 al
b) 6§ e A (i) @g.904 dg
(©) 6¢< cFavud (1) L9Ie g Al
(d) 06696 Jd iv) Geeee 9id

GO 998 ¢E9 Fkig AUYe RKet 0 :

1) (@-@). (b)-av). (@©-@. (@- 0
(2)  (a)- @, (b)-(@u). ()@, (d)- (v)
(3) (@)- @), (b)-@), (c)-Gw). (d)-Gv)
(4)  (@-@) (b)-(m), (c)-G). (d-@
Options:

61547538769,
61547538770,
E154752877 1.
E1547528772.

o IR

Question Number : 118 Question Id : 6154759942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘@’ 22 990 ‘9’ 99 VOYe AU FQUd @Q |

‘@’ ad ‘“’ aga
(a) 0O 6a 6QlF (1) SO9IR dal
b) 6§ e A (i) @g.904 dg
(©) 6¢< cFavud (1) L9Ie g Al
(d) 06696 Jd iv) Geeee 9id

GO 998 ¢E9 Fkig AUYe RKet 0 :

1 (@-@). b)-a). @ . (@-O
(2)  (a)@. (b)-@). (o). (d)- ()
3 (@-@ ®-@®. (@©- ). @- )
4)  (@-@Gv)., (b)- ). (¢-a). (d)-@

Options:
61547538769, 1



E1547538770. 2
61547538771, 3
B15475387 72 4

Question Number : 119 Question 1d : 6154759943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘@’ ad 990 ‘9’ 99 RUYe 9°ae GQUd @a |

‘@’ aa ‘¢’ aa
(a) @9l (1) SRELCF Qe
(b) @@l (1) BEAE
(¢ |l (i) 9Rdg A
(d) @898 (v) Qde oo

Gfld @8 O FQ QUYe KRt Fea :

(1)  (@-@. Gm-a@. (@©- ). (- av)
(2) (a)-@), (b)-(m). (¢)-Gv), (d)-()
(3) (a)-@). (b)-av). (¢-@). (d)-@
(4) (a)- ). (b)- (). (e)- (@), (d)- (1)
Options:

615475387731

61547538774 2

61547538775 3
61547538776, 4

Question Number : 119 Question Id : 6154759943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘@’ 90 496 ‘¢’ aue QUYe 9°U9 GQUd /a |

‘@’ ad ‘o’ ag
(a) gl 1) 9REKSa Qe
(b) Q@ 1) gIede
() Sl (i) SR A
(d) QLLe (iv) <9dUe oow

ofd 998 4O FklQ 9UYs Reatd 999 :

1 @@ ®-@. @ . (@- @)
(2)  (a)-@), (b)-Gm). (-Gv). (-
(3)  (@-@. (b)-@w). (-@. (D@
4)  (a)-v). (b)- (). (o) (). (d)- (1)
Options:

515475387731

61547538774 2

E1547538775. 3
BE1547538776. 4

Question Number : 120 Question Id : 6154759944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘@’ 22 990 ‘9’ 29Q QUYS AUs FQad *a |

‘e’ ag ‘d’ aa
(a) egagI 1) QUL
(b) egagaIRy i) @96 98¢
() egaaEa (i) LI YOI QUG
(d) &ga amne (iv) OReAUR W

Q79 999 999 kg RdYs REeC a9 :

1 @@ ®-@. (@©- ). @- a)
(2)  (@-m. (b)) (). (@)

(3) (@-(. (b)-@. (). (- @
4 @-av). ®)-0. (-@. (- @)

Options:



B1547538777. 1
61547538778, 2
B15475387759. 3
61547538780, 4

Question Number : 120 Question Id : 6154759944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘@’ 93 dBe ‘4’ 2de edge 99 Gqdd @ |

‘e’ af ‘@’ aa
(a) 6gAgIRI 1) QEULW
(b) &gagaay 1) Qa6 g8e
() 6gaaSG (i) IV YOADR QUG
(d) €9¢ a8Fe (1v) OLeAda 1

Qe 998 Qe fQ QUYe Reed w6 :

(1) (@)- (), ()-@). (o-Gu). (d)-w)
(2) (a)- (m). (b)- (), (c)-(v), (d)- (0
(3) (a)- (11). (b)- (1), (€)- ). (d)- 1w
(4) (a)- v). (b)- M. (¢ (@). (d)- (i)
Options:

61547538777, 1

61547538778 2

61547538779 3
61547528780, 4

Question Number : 121 Question Id : 6154759945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘@’ aq 990 ‘d’ 99 QAYe AU HQUd 99 |

‘@’ ag ‘o’ a9
(a) QNI 1) gearqie dead
(b) F1Ral (i) ge6ee AIg
(c) oaa® (1) @048 A%
(d) QUSE (iv) e AP

Q74 998 9U9 fUQ QUYs 2865 a6

1) (@-@), (b)-(). (1. (@D-@
(2) (a)- (u1), (b)- ). (o)- (@) (d)- ()
(3) (@-@. (b)- Q. (e-Gv). (- @)
(4) (@)- (), ()-@). (o-@u). (- W
Options:

61547538781, 1

61547538782 2

E1547538782 2

61547528754, 4

Question Number : 121 Question Id : 6154759945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘@’ a2 990 ‘4’ 99 QAYS AU HeUd 99 |

‘@’ ag ‘o’ an
(a) QAeUIR 1) geareiel deaa
(b) ¢aal (i) gesee Aig
(c) ood® (1) @048 A9
(d) Quod (iv) ERQ AP

Q714 098 969 fUg QUYs 2Ee5 a6

(1) (@)- av), (b)- (). (0)- ).  (d)- (@)

(2) (a)- (). (b)- (). () (1), (d)- (1v)
(3) (@)- ). (b)-@. (@-av). (d)-w
(4) (a)- @), (b)- (). (o) (). (d)- ()

Options:
15475387811



E1547538782. 2
61547538783, 3
61547538784, 4

Question Number : 122 Question 1d : 6154759946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘@’ 22 999 ‘d’ 99 QAgS A°UT U /a |

‘@’ ag ‘o’ aa
(a) <64 1) wgeeId aae
b)) QR (i) €99 9f IR
() QS (i) 9916ed IR
(d) a9 (iv) gow dedan

GFldl 998 (O @ FliQ AUYe Leed F0ea :

1)  (@-@. b)-@. (-G, (d-av)
(2) (a)- (). (b)- (M. (o)-@). (d)- (1)
(3) (a)- (), (b)- (), (o)- (1) (d)- (1v)
(4) (a)- @v), (b)- (1), (c)- (D).  (d)- (V)
Options:

61547538785, 1

61547538786, 2

E1547538787. 3
E154753878E. 4

Question Number : 122 Question Id : 6154759946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘@’ 2@ d9e ‘d’ 99Q RUYs 9°UT BQUd KQ |

‘@’ aq ‘8’ aa
(a) 9g6a4 1) zIgeeIm aagl
(b) ©°@IQ i) <99 0L guIe
(c) QA (1) 29w g
(d) a9 (1v) ol deash

Qe 999 99 @ kg QUL R8s 09

1 (@-@, b-@. (@©- @) @-a)
(2) (a)- (m1). (b)- (). (c)- (1) (d)- (1v)
(3 (a)-@. (b)-Gm). (- Q) (d)- (av)
(4)  (a)-@v), (b)-(@{), (-G, (d- @
Options:

615475387385, 1

61547538786, 2

B1547538787. 3
61547538788, 4

Question Number : 123 Question 1d : 6154759947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



‘e’ an 499 ‘4’ 2ae aduge 9°ae §9ad 9 |

‘@’ ag ‘o’ aa

(a) QNS FANQ NS (i) Orissa

(b) @EURRIE IY (1) Typical Selections from Oriva
Liteature

() GoRaf (aRdy 946 (1) Histoy of Medieval Vaishnavism in
Orissa

(d) [RASY FILFNG (iv) The Archaeological Survey of
Mayvurbhanj

Ofld 998 @ @ i KdLe aaed daeq:

(1) (@)- (1), (b)-@. (o)-au). (d)- @)
(2) (a)- (@), (b)-@). (o-Gv). (@-@

(3) (a)- (1. (b)- (). (c)- @) (d)- (m)
(4) (@)- av), (b)- ().  (@-G. (d)- (m)

Options:

1547538789, 1
E15475328790. 2
61547528791, 5
61547538792, 4

Question Number : 123 Question Id : 6154759947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘e’ an 499 ‘4’ 2ae aduge 9°ae §9ad 9 |

‘@’ ag ‘o’ aa

(a) QNS FANQ NS (i) Orissa

(b) @EURRIE IY (1) Typical Selections from Oriva
Liteature

() GoRaf (aRdy 946 (1) Histoy of Medieval Vaishnavism in
Orissa

(d) [RASY FILFNG (iv) The Archaeological Survey of
Mayvurbhanj

Ofld 998 @ @ i KdLe aaed daeq:

(1) (@)- (1), (b)-@. (o)-au). (d)- @)
(2) (a)- (@), (b)-@). (o-Gv). (@-@

(3) (a)- (1. (b)- (). (c)- @) (d)- (m)
(4) (@)- av), (b)- ().  (@-G. (d)- (m)

Options:

1547538789, 1
E15475328790. 2
61547528791, 5
61547538792, 4

Question Number : 124 Question Id : 6154759948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘e’ aq 9B 'd’ ade @oge 9°de §9dd Q|

‘@’ aq ‘o’ an
(a) @R oal 1) AP g7 @am
(b) T8 IFe/AR GG (i) Qe gy egd
(c) 6AIFRIE 2B (1) 2P YERUR AFRUR
(d) <q|eam (iv) &dla ggeanm

Q7Y 998 Q¢ @ Flg RdYe et F09a:

(1) (a)- @, (b)- (). (c¢)-(@a). (d)-av)
(2) (a)- @), (b)- (11). (c)- (D). (d)- (1v)
(3)  (a)-@). (b)- D). (o)-@1). (d)-G1v)
(4) (a)- @v), (b)- (11).  (c)- ). (d)- (1)
Options:

61547538793
61547538794

51547538735,
61547538736,

[ N

Question Number : 124 Question Id : 6154759948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘e’ aq 490 ‘d’ ade Q94e 9ue 0qdd a9 |

‘@’ ag ‘¢’ aa
(a) oER oalb 1) AP g @4a
(b) {4l TR B (i) Qe g g
(c) 6QIFIRIE 29 (i) e g6 TR
(d) aIRegMm (iv) e6dlg ggead

QY 998 ¢ @ (g AUYe LRt J0ea:

(1) (a)- (@M. (b)- (1. (0)- Q). (d)- 1)
(2) (a)- @), (b)- (11). (c)- (D). (d)- (1v)
(3) (a)-@. (b)-(). (o) @). (d)- (av)
(4) (a)- av), (b)- (1), (e)- (). (d)- (V)

Options:
15475357921



E15475387394. 2
615475387385 3
515475387396, 4

Question Number : 125 Question 1d : 6154759949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘e’ 9a 490 ‘d’ 2da AdYe 99w GQud a9 |

‘@ ad ‘Y’ an
(a) TFIQEFILE And 1) oz Qb
(b) LG TRNEALR (i) GeoRr LI
(©) QIGeY QIS THIQEFNSR (1) Q0 AFITAIL
(d) LT TIIQEFNSE (iv) d6Iga QI

Ofd 998 @ @ flUg RUde aeet §aea:

(1) (@)- (). (b)-(. (c)-Gw. (d)- )
(2) (a)- @), (b)- ). (c)- (. (d)- (111)
(3) (@-@). b)-@, (©-@w). (@) -0
(4) (a)- (iv), (b)- (). (¢)- .  (d)- (D)
Options:

515475387397, 1

61547538798, 2

E1547538739%9. 3
51547538800, 4

Question Number : 125 Question Id : 6154759949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘e’ aq aB¢ ‘9’ 2de QUge 9°ue Fqdd @0 |

‘@’ aa ‘@’ ad
(a) TFIQEAILE And 1) O/FE Qb
(b) GIGI TRAEANLR i) ¢geor I8
() QLY QIS TIQEFNSE (i) QIR AL
(d) ULeT TRIRERIEE iv) 969ga Q1

Ofld 998 @ @ g RUds a9t §aea:

(1) (@)- @. (b)-@). (c)-@w). (d)- ()
(2) (a)- (). (b)-@@v). (o) Q). (d)- (111)
(3) (@-@). b)-@. (e-@w). (@ O
4) (@-Gv), ®)-0. (©-@). (- )
Options:

615475387371

61547538738 2

615475387395, 3
E1547538800. 4

Question Number : 126 Question Id : 6154759950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ALEALINIRE @Q@IR QK6 T Jagey A1 |
(1) G e RN, CTUING G UNIRIQ, GFU QT B QUYI, BT VI YT
(2) B@2 UIege LA, 632 QUEI 946, GF2IRd 6 Qg FTINEI 0 QIFAIRRIS
(3) GEQd 6 A, 092 GIeYa YR, 65T WY AT, CRTINNE G QIFITRIQ
(4) GFARIY 6 UIFHIF, 0FT Qg P!, 6L A gaF, BFUAD 6 Qual

Options:
£1547538501.

E154753880Z.
E1547538803.
E15475238804.

[ N

Question Number : 126 Question Id : 6154759950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



QRAGININE @Q@IR APFEH FFY gagey a1l |

(1) 6@ QUYIege YT, CFUNE @ ANINR, GFUET 6 audl, BT S gaAF
(2) GE2 wAega RN, 6HU UG I, 6TRIRT 6 W, GFUING G UITFQ
(3) G Qd 6 UEl, 092 Ve VLRI, 65T WG AT, GFRINY ¢ UNTFIQ
(4) GERNG 6 WIIHIF, 0P8 QAege R, 6L Y gaF, BT Ad 6 el

Options:

61547538801, 1
61547538802, 2
61547538803 2
61547538804, 4

Question Number : 127 Question 1d : 6154759951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
686619, NI, RQQ, TS JI - 9@ gesos AIPALA H7ge JFea dRIead @ |

(1) RIeEIa 98, AIcudg, G001 T80, YMIEQIR 6RIR
(2) YRUIERIR ERIGR, IR 98, AIYdIg, ATeY T39I
(3) G50 F0IREEI, FIULEIQ 9Q, RIS, YMIEAIR 6RICA
@) QIEuIg, FNLTIRQ GY, YMEAIR 6RIER, ATy 0100

Options:

61547538805, 1
61547538806, 2
61547538807, 2
615475258808, 4

Question Number : 127 Question Id : 6154759951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

69661, QRTINL, A00, ARRS gT - 99 geras FAIPTEa Fge Fea ARIad @6 |
(1 AT 91, AGUAIY, AT FVRGTI, YRR 6RIGR

(2) YRUIERIR ERIGR, NP 98, Ay, GGy F0100a

(3) A0y F0I00TI, FITTIQ 98, QICUIY, YRR ERICR

@) QIeNIY, FMSFIO 9L, YRR 6RIee, A0y 010G

Options:
61547535505, 1

E1547538806. 2
E1547538807. 3
51547538808, 4



Question Number : 128 Question Id : 6154759952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e gdie dal, AeNeR f9Ie, df QUeeqld, USTEIIR JdeRide -99 JIFefes @fea &

J8geea AdYe 9491904 9 |

(1) eald1€ILa 6QIRI%, RG], W19, 9y
(2) ?Ie, dg, SLlldIdIge 6LIRIR, dellQE!
(3) ddl, qelitic], ¥, sClldIdIgt: eLIwq

(4) Jelleie’], de, @@, etlldldIge 6wl

Options:

61547538809, 1
61547538810 2
61547538811, 2
61547538812 4

Question Number : 128 Question Id : 6154759952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
728 gdie da€l, FeYeRe f91dIg, df QUeonid, QUIREdIn JdERIge -9 QIEefIeT @76 o

Jggene RdYe 991904 @9 |

(1) eelid1dILel eQIRle, qeltg', ¥iv, dy
(2) @I, dg, SCIdIFIZa 6RITlR, J6laE
(3) ddl, 4elite, L9, 66lUIdILE eI

(4) e, de, @19, etldIdige LI

Options:

61547538809, 1
61547538810 2
1547528811, 2
61547538812 4

Question Number : 129 Question Id : 6154759953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



amel dal, @9 8P e6w, @MIY, 9AIgea 6RIER - ¥ QdRYId R dEe QPRIRINE Kdds K¢

GRI0d aal

(1) 69139, FI004, JAgaF g4, 2aI6a4d a9
(2)  9UIERY OQI, CAIFRRIY, R 00, TAYAUF €1
(3) aegaie 94, 919,004, 6aIFRQId, 9RIERY T8

(4) @004, 6QITOY, 9HIERE AL, TAYAUA T

Options:

615475388131
1547538814, 2
E1547528815. 2
61547538816, 4

Question Number : 129 Question Id : 6154759953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
amel dal, @9 99Pa e6R, @MIY, 9AIgee RIEE - ¥ Qdeyd 2 dEe QeRIRIos dds K

GRI0d @al

(1)  691FRQIY, FI004, JagaIs g9, aI6ad a9
(2)  99IeRd d9l, 6QIFRRI, 1P 004, A I8
(3) aogaie g4, @19.904, 6aIFeQId, PRIERE T

(4) @004, 6QITORIQ, 9HIERE A, TAIAUA T

Options:

154753881321
E1547528814. 2
61547538815,
61547538816, 4

Question Number : 130 Question Id ;: 6154759954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



dRIKIRIe UPFET QAYS I FRIQE |9 |

(1) ZIRAdd, ASE9a G, ATaGel, MTanda
(2) AITRAEE, F12169a FuI, A0S, AIFandd
(3) UAQGOI, TS, faea Fall, ACanda

(4) ASIGPa Fall, AFAGEI, AITendd, AIeandd

Options:
615475385171

E15475388158. 2
E15475388149. 3
B1547538820. 4

Question Number : 130 Question Id ;: 6154759954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
dal€l@le Spwes] wdda ot FEI0G K6 |

(1) UIRQAdd, A9 Fall, UG, AITandd
(2) CISQREd, F12169a Gull, A0S, AISandd
(3) UAQGQI, AFaNEd, 8169a i, AFandg

4) 92990 Ful, NG, ATendd, AIFacdd

Options:

61547538817, 1
61547538818, 2
61547538819 2
1547538820 4

Question Number : 131 Question Id : 6154759955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

dgel Qe@, 999 909, QFaRR, cNIYl AULREAIL - 9@ JFNRE FAGAL FF CF d°@e
Jeee adge @ odiZ |

(1) QA% 6969 2I6d, 2IRIY 680 P2 F6L, B8 RECIR, AP ¥R AR

(2) 2IRIE 6260 P2 R69, G8 REAIR, AIP Hd0 AR, S 6LET 2ed

(3) dQ Q60IR, 48 662 2I6d, 2RI A0 K2l @62, AIP P4 AP

(4) 2P 6LL0 P 69, IS 6A6T 2I6d, AP PR ARR, §R YR,

Options:
154753582101



E1547538822. 2
61547538823, 3
51547538824, 4

Question Number : 131 Question Id : 6154759955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

agel QIe@, 990 QIEF, QFaRR, MYl LA - 9@ AFFNRE FAGAL FF 0F AR
Jowa aage af @il |

(1) Q9= 6069 26, AINIE 6060 @2l @62, 97 QEIR, AP R AR
(2) ARG QA0 @2 [62, AR QEAIR, AG N AR, AL IR 26D
(3) @2 6qIR, 48 6J69 26T, TIFK IR0 P2 K62, ARG M AR

(4 ARG QLU0 P D62, A% 6I6T T, AIS M AR, §R EAIR,

Options:

1547538821, 1
E1547538822. 2
61547538822, 5
61547538824, 4

Question Number : 132 Question Id : 6154759956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ARPIFR, AR FLITIQ, TSN U, PFEQ AVAG- 9@ VULFAIE-TN ADQ 6P
deel-aad adga ?

1) <94, DIy, 99919, JoMdl
(2)  ge9idl, 49919, I, deligal
(3)  QoRIQ, DAY, FIQ4, FTE

(4) @ﬂTBi@I, LlelREl, Ig€ll, Yumial
Options:
61547528825, 1
61547538826, 2
61547538827, 3
61547538828, 4

Question Number : 132 Question 1d : 6154759956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



QAFERA, AN F9IAIg, TFREAn @14, 020 FVUQ- 1@ ANAIE-TF dAFQ 6RE
Jee-aAd aaga ?

1) Qg4 Feiga, 99919, eMél
(2) Qa4 IR, AQEN, Heigal
(3)  QewIQ, FEiyel, IQen, JaEl

@)  Geiga, ge9id, I, 9919

Options:
B1547538525. 1

E154753882E6. 2
E1547538827. 3
E1547538828. 4

Question Number : 133 Question Id ;: 6154759957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

6411 008 QA 019 VIR G YKL FIRIGAR AR 6RE |

(1) edIedRel, AEaed, 010 99, QIR J9de RIS 6219
(2)  0Iga €Q, AFIEHURR!, AATeT, QIR 9999 RIS 6P
(3) QAT FIEURQ!, FIA Jede AR 62Ig, 0IFQ GQ

(4) QR gedq drIQ 6912, YL, AENIEHRAI, 0IgQ €a

Options:
B1547538529. 1

E1547538830. 2
E1547538821. 3
BE1547538832. 4

Question Number : 133 Question Id : 6154759957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6411 008 QA 019 VIR G YKL FIRIGAR AR 6RE |

(1) edIedRel, AEaed, 010 99, QIR J9de RIS 6219
(2)  0Iga €Q, AFIEHURR!, AATeT, QIR 9999 RIS 6P
(3) QAT FIEURQ!, FIA Jede AR 62Ig, 0IFQ GQ

(4) QR gedq drIQ 6912, YL, AENIEHRAI, 0IgQ €a

Options:
£1547538529. 1

E1547538830. 2
E1547538821. 3



E1547538832. 4

Question Number : 134 Question Id : 6154759958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
dRI9e SINIgaIg 6a6 908 097

(1) QiEQd, QPUALE, AL, 6L
(2) didl, disag, AEEd, ATRe
(3) YEUNG, UG, JeaD, AR
(4) diceld, QIIURL, i€, ALad

Options:

61547538833, 1
61547538834 2
61547538835 2
615475388326 4

Question Number : 134 Question 1d : 6154759958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
JRde FIQIGAIE 696 908 07

(1) ALET, PG, ARG, 62D
(2) aaldl, g1s2g, 2195d, AFURWS
(3) QSIUNY, AEQT, dead, QI

(4) disald, RIFARS, digl, Dend

Options:

61547538833, 1
615475388324 2
615475258825, 5
61547538826 4

Question Number : 135 Question Id : 6154759959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A6RINEe QId, IS QI9, TR oF Q2, 4 fg- 9@ QAINFINE FAPAIER FIL 698 FAT

og ?

(1) g0 @64 99, 99199 FI8R, Uy Taq, g4 460
(2) g4 4@6R, 999199 FI6R, Aga @64 Jo, Zady oda
(3) Zodl TR, g4 46, aga 964 o, 4919w FI6e

(4) dRQIRw Flieh, EEl Tdal, gd ek, iyt wedl Haw

Options:
61547538837, 1



E1547538838. 2
51547538839, 3
51547538840, 4

Question Number : 135 Question 1d : 6154759959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AERINEe 919, 3969 214, FIAw o8 o, 9ea fg- <@ FURIRIeE gAIgdIEa H0d cra gad

og ?
(1) AgQ P64 99, J991e% FIER, Uy oda, 9< deee
(2) g4 ge6w, de919% FI6R, A 264 go, Bady oda

(3) deigly Tdhl, gél Y@eh, algtl @66l 9w, dlva itk

(4) 99w Higk, g TR, g @6%, algt @6l L

Options:

1547538837, 1
E15475328838. 2
61547538829, 5
61547538840 4

Question Number : 136 Question Id : 6154759960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@760 906 9994 996 | 6915~ Assertion (A) 8 ZGYE Reason (R):

Assertion (A):  QeNGI 8 A0 FgEia P6QIT T4 RUEE GG F6a- &R1X, F9IE B UIRIA |

Reason (R) : 98 FAIGE Qa1 F19FQ 9FEE I £ 8 UFYS A0S 29 |
Qdge 99 999 aasa O I980 da @a

(1) (A) 0= @ (R) =
(2) (A) 6 (R) @wa O@
(3) (A) @ @ (R) OF
4 (A6 R) s 9

Options:

61547538841, 1
61547538842 2
E1547528842 =2
61547538844, 4

Question Number : 136 Question Id : 6154759960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q7160 Qb 9894 998 | 605 Assertion (A) 3 ZIGYE Reason (R):

Assertion (A):  Q9NGI 8 €°%0 AgEia GEQIT ROl AAEA QER WER- 691X, FQIQ B S |

Reason (R) : N8 RAGE Q101 F19FQ QREGE IR §4 8 UFYT A0 g4 |
Qdde 9o 989y @aea Og 9ast da @a :

(1) (A) O@ 6 (R) 2
(2) (A) @ (R) eua O9
(3) (A) @ @ (R) OF
4 (A6 R) e g

Options:

61547538841, 1
61547538842 2
1547538842 =2
E1547528844 4

Question Number : 137 Question Id : 6154759961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Q7160 99F 9894 996 | 6615 Assertion (A) @ 2G4 Reason (R)

Assertion (A) : 6Qadl QISR DI Q1T ; 694 2F Reag D, ZIFQ 6gadicad adide ga

Reason (R) : 6gedl foduy AINde afegae @aar
QA0S 9@ 9994 Gasa O 3980 4a @0 :

(1) a9 (A) 6 R) O
(2) (A) 02 6 (R) g
(3) (A) @@ 8 (R) 0%
(4) Aea (A) 8 R) 8o

Options:

61547535545 1
61547538846, 2
61547538847, o
61547538848, 4

Question Number : 137 Question Id ;: 6154759961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Q7166 990 9894 U986 | 6615 Assertion (A) G 2G4E Reason (R)

Assertion (A) : 694l dI6dIQ D14 QIF ; 694l 2IF Aeag TN, ZIFQ 6JAdIERE 9fde 99 |

Reaszon (R) : 6904l FQAYy ANFR AFegae @R
Q9ge 9@ 999y Gasa Og F98d a @a

(1) a9 (A) 68 [R) O
(2) (A) 0% 6 (R) @
(3) (A) ga 6 (R) Ox
(4) aea (A) 8 R) 8@

Options:

61547538845, 1
61547538846, 2
61547538847, 2
61547535848, 4

Question Number : 138 Question Id : 6154759962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Q7160 9QC 9294 g9a | 655~ Assertion (A) @ 2GYE Reason (R):

Assertion (A) : @4 21907 99 IEAILE 6T1A 94 FQAT. PG ALY GPIF U9 9@ QIS A8

ged @929, @9 GIg 6RET606R 6aITY FERINR 69IA o4 AT IR |

Reason (R) : QERISR AFEF FIeS 94, FISRIPd 99 GRS TN |
Rade 96 999y Gaea Og 99st da @a:

1 (A026R) ga
(2) (A) 6 (R) @9 g
(3) (A) 6 R) aag O

(4) (A) @a @ R) 09

Options:

615475238849, 1
61547538850 2
61547538851, 2
61547538852 4



Question Number : 138 Question Id : 6154759962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Q7160 QEF 9994 g9 | 6615 Assertion (A) G AT Reason (R):

Assertion (4) : &4 QI9RF 99 ZICLULd 69IR 924 FQIUL, P16 AIVIQ FRIT D9 9@ AR Ad

ged @99, 34 Glg 6REIERER 6UITI FERIPR 691G qod FAaIRe IF |

Reaszon (R) : QEQIDR AINER NG G4, FIERILS O GRULE IR |
R0ge 90 989y aRea Of 9asC da @a :

(1) (A) O 6 (R) ga
(2) (4) 6 (R) a9 @
(3) (A) 6 (R) aeg OF

4 (A @R a8 ®) O0R

Options:

61547538849, 1
61547538850 2
1547538851, 2
E1547528852 4

Question Number : 139 Question Id : 6154759963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q7160 990 9994 U998 | 6615~ Assertion (A) G 2G4C Reason (R)

Assertion (A):  QiFQY &I ¥9° AAEAICTR FIF 660w ARMER QU QI FARE |

Reason (R) : gerael @ A°gd Qed AReIR @8 1 91 301 APy 98 6991 AAR PEY |
AAYe 99 99 Aesq OF F980 4 @a :

(1) (A) ga 8 (R) O@
(2) (4) @ (R) aud g
(3) (A) B8 R) aag O

(4) (A) O 6 (R) @a

Options:

61547538853, 1
61547538854, 2
61547538855 2
61547538856 4

Question Number : 139 Question Id : 6154759963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Q7160 906 9994 Y98 | 6515~ Assertion (A) @ 2GYC Reason (R)

Assertion (A):  QiFQY 98I 99° AAEAICRR FIF 660w ATMLER QU QI FARS |

Reason (R) : gerael @ Q°gd Qed AIPeIR @8 | 91 301 APy 98 6991 AAQ Q6P |
RAge 90 989y Aeea O 9agt da @a :

(1) (A) g 8 (R) O
(2) (A) 6 (R) aed g
(3) (A) 8 (R) awg O

(4) (A) O 6 (R) @&
Options:
E1547535853. 1
E1547538854. 2
61547538855, 3



E1547538856. 4

Question Number : 140 Question Id : 6154759964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Q7160 9Qf 9294 g9a | 651"g Assertion (A) 8 294G Reason (R) |

Assertion (A) :  dFIERIERI @R8I | AR FFERR 10 *A2Ig |
Reason (R) : draife @odoy § @4y AT ARSI SE2N |

Qdde 90 999y Geeq 0f IagC da 70 :

(1) (A) 0@ 8 (R) @@
(2) (4) 6 (R) @992 g
(3) (A) 8 (R) awg O

(4) (A) 9@ 6 (R) O
Options:
61547538857, 1
61547538858, 2
15475325859 2
15475205860, 4

Question Number : 140 Question Id : 6154759964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q166 9af @9y g9a | 66169 Assertion (A) 8 2G4 Reason (R) |

Assertion (A) :  4AIERIERI YRR | AR FANERE G910 KGN |
Reason (R) : draide Aoday @ @4y ATe AAIERIeT SRR |

Qdgde 9@ 929y Gasa O 3980 4q @9 :

(1) (A) 0@ 8 (R) @@
(2) (A) 6 (R) a9d g
(3) (A) B (R) ewg O

(4) (A) @@ 6 (R) O
Options:
61547528857, 1
61547538858, 2
615475388549, 3
61547538860, 4

Sub-Section Number: 2
Sub-Section 1d: 615475430
Question Shuffling Allowed : Yes

Question Id : 6154759965 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



d<g4® ey, 91-95

‘ARa oficllg Gaet ARG FPFRIN JAIPER ANGIIY PP AdIde (IR B - AT qiIEa
8 feeq UeE QF FIGIRE & QIR @8 GRe 2NIAF FARE | CREEIE F196R KNGS
21f@el § QIR UEAISRa FIQG | FI 4991 96y 6917 F60 94 QIF | AAeA ARIFFE 6@led FI6e
Ay FA91e0l dal 69a FIF, 99° Qg Feiw, @d U994 0 FEMET eIy T4 cORUT | ARG

QIPERES 6 2ERRT IAQAIR QIPIQ ARIFSR! ATE60 Qe 2aIe 96T I

AUERIS PIPERRT df RAREe g4 9@ aas @ |
Sub questions

Question Number : 141 Question Id : 6154759966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
P60 QUL 6910 VIV FALIG ?

(1) QAR UG
(2) QRIS A71F UQSIAG
(3) dRIN6R 95N AUNAT

(4) QEE- 299 VLI9T
Options:
61547538361
61547538362
1547538863,
61547538364,

o IR

Question Number : 142 Question Id : 6154759967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AIEPR@ G FIIFge9 910 [0 @8 ?

(1) 999 g4I99i1a 90 9°6RI0Q
(2) Q9ge gdeQ 99e
(3) dq age Sg<

(4) PPTHIRER aUIde!

Options:

61547538865, 1
61547538866, 2
E1S547538867. 2
6154752585868, 4

Question Number : 143 Question Id : 6154759968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
G760 9E6 999y 96 66t Assertion (A) @ 2907% Reason (R) @169 G%@ |

Assertion (A):  RIFLV! QIR ALY AV g9

Reason (R) : @d 6 G 902 Fequ
QUGS 9P 9 AR6a OF I9s0 a *0 :

(1) (A) 02 8 (R) @&
(2) (A) 6 (R) aed ga

3) (A w6 R) 09

(4) (A) 6 (R) aeg O

Options:

£1547538869. 1
615475238870, 2
61547538871, 5
61547538872 4

Question Number : 144 Question Id : 6154759969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
@9 2ROR OSEIE AR AURE 7

(1) RFLI 190 (2) oRIF 19N

(3) TEARID (4) QUIEHE B 2EeRow ARG

Options:



BE1547538873. 1
61547538874, 2
51547538875, 3
61547538876, 4

Question Number : 145 Question Id : 6154759970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A6 BNAL @& delg ?

(1) g dIgwle (2) ‘EP@‘&“P@'IG"‘S’I
(3) @1 @ﬂ_ﬁ@l (4) Feaiag
Options:

61547538877, 1
61547538878, 2
E1547538879. 3
E1547538880. 4

Question Id : 6154759965 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehension

ggdea. 91-95

‘Eg cfolEly GEed UG SPIRING JRIFEE RGEIID] PR adide 62IR YR - awId qida
cd Crleq 9E QF FIRYREl 6 QIR 8 GRSl PRy QAR | EREEIE FIPER RIALR
PIFRel @ QI0IQ TEMIGER IO | FI 991 ASY 6RIR 60 94 G | QIea AFee ealad FIee
Ay FA91e0l 44 69a PP, 9a° Gl FWiw, @d 994 6 FEUET 6eqly 991 cORUE | ARG

QPR 8 ZdeRle AR QIRIQ URIFEE! A6 Jef PaIR R6d I

AU6RI8 ZIPERet d% FAREe 94 999 e @ |
Sub questions

Question Number : 141 Question Id ;: 6154759966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



P90 QUL Q1R VDG FLLING ?

(1)  dLerdfe U9
(2) QRIQ AT AT
(3) QRAUER U NAIGG

(4) QEE- fQU9 VLI9T
Options:

61547538361, 1
61547538362, 2
1547535863 2
61547538364, 4

Question Number : 142 Question Id : 6154759967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AIEPR@ G FIIFge9 910 [0 @8 ?

(1) 999 g4I99i1a 90 9°6RI0Q
(2) Q9ge gdeQ 99e
(3) dq age Sg<

(4) PPTHIRER aUIde!
Options:

61547538865, 1
61547538866, 2
61547538867, 3
1547520868, 4

Question Number : 143 Question Id : 6154759968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



G760 9E6 999y 96 66T Assertion (A) @ 2907% Reason (R) @169 G5@ |

Assertion (A):  ZIRIFRG! QA FIQF FFNQ 99

Reason (R) : @ 6 2T F9 002 IFequxl
QUGS 9P 99 AR6a OF I9s0 8a @0 :

(1) (A) O @ (R) @a
(2) (A) 6 (R) aed ga
(3) (A) ga 8 (R) O9

(4) (A) 6 (R) aag O

Options:
E1547538569.

E1547538870.
E1547538871.
B1547538872.

[ N S

Question Number : 144 Question Id ;: 6154759969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
@9 2ROR OSEIE AR AURE 7

(1) RFLI 190 (2) oRIF 19N
(3) TEARID (4) QUIEHE B 2EeRow ARG
Options:

61547538873 1
61547538874, 2
E1547538875. 3
E1547538876. 4

Question Number : 145 Question Id : 6154759970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RARGEE P @& Jaiig ?

(1) 2 dIgTwe (2) 'EP@‘&‘LF‘I_L"'IG"@I
(3) e @ﬂ_ﬁ@l (4) REFNQD
Options:

E1547538877. 1
E1547538878. 2
B1547538879. 3



E1547538880. 4

Sub-Section Number: 3
Sub-Section 1d: 615475431
Question Shuffling Allowed : Yes

Question Id : 6154759971 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension

gga-sy Q. 96-100.

“ARUIA B YRS IR HF @69 1 G191 UF LRA Uf 6RIR JRd FRUIRADI, 6669 FPEY YNNG
PRge 6219 QB @ 2181 1 A MY @I9AINER AIQIDe1 62IRZIB! | U6 966 deYd 1 RIF
QREQ I 20 AAIAQ TR Q69 1 G121 G 9 I FE0IQ A°GIF, ARY VUG, F1VQ- AR TR |
19 - 98 099, 21900 g6oIR 68IC 68IC UOGIER fd 9Yey | 9@2Ide eFlad gomiaior, giEal
S QIF QRER VNS IO W FNIYAIQ 6AIRER 6LIRAET, @' QT VAR IFEYR, ¢ AN G

9P Q9 QP M9 ud 17

QU6RIS BQeRad 99 Frade d99Len e Q2 |
Sub questions

Question Number : 146 Question Id : 6154759972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f90 PRAQNIGE I Unea @9 T4 G ?

1 Qguaud (2) ey
3 g¢ 4) wud
Options:

£1547538881. 1
E1547538882. 2
E1547538883. 3
E1547538884. 4

Question Number : 147 Question Id : 6154759973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Q000 F960 9590 6Ru Jewa I°98 QEE?

(1) QIFIFIEG @ AKYId (2) addw 6 aded
(3) °GIE @ P1e-SUL (4) GRIF 3 @Gl@@
Options:

E1547538885. 1
E1547538886. 2
B1547538887. 3
61547538888, 4

Question Number : 148 Question 1d : 6154759974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
QRERITILFAIES @4 aadiZIgE?

(1) <aeud (2) ¢
(3) Q199 G920 4) QAR %S
Options:

E1547538889. 1
61547538830, 2
61547528831, 3
61547538832, 4

Question Number : 149 Question Id : 6154759975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RINUFQ 670 FUF 21900 QPUI6a geTRe?

(1) QLI 9°AIQ S0 (2) <G Qe AEER
(3) QFFS 2I9ELIER (4) B0 ge atsedn BHIg
Options:

E15475388593. 1
E1547538894. 2
515475388385, 3
61547538836, 4

Question Number : 150 Question Id : 6154759976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q291 ‘UNRNIR QLR 676 ARG 6LARUBI ?

(1) Q99 A8 s QU (2) 9199 IRIGALT QI
(3) QAR I B AFLD AN QIR 4) o aIes QIal
Options:

E1547538837. 1
E154753885958. 2
E15475388949. 3
515475353900, 4

Question Id : 6154759971 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Qg9 Q. 96-100.

“aqaud B 9901 P19Q M Q6% | PPl U P19RA df 69IR J9d FQULIRALI, 6969 FIgEY 91

Zege 691R IR { 21 | ddal daY @I9fewe ai@ide eLindisl | F6le6 IIRR AU 9 QIF

QFER T 26 AL TR P62 1 Q191 GG g9 D1 FE0IQ G, URY QSUIQ, S19R- AR TR |
Q19 - 98 08¢, 21900 J6oIR 6810 68I¢ UOGIER fd 9Py | 90919 6wlad gemiaiel, giEal
S QIF QFER VNS IO 9 FNYAIQ §IIRER ELIRAET, @' AIT IPEAINE FFEYR, I¢ AN G

f 08 QR M9 ud 17

QUERIS FPERYT dF PARUe dd9een 2aa 9 |
Sub questions

Question Number : 146 Question Id : 6154759972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
890 PRAQNIGE I Unea @9 T4 G ?

1) geuad (2) ey
3 499 4 ud
Options:

615475288581, 1
E1547538882. 2
E1547538883. 3
51547538884, 4



Question Number : 147 Question Id : 6154759973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Q000 F960 9590 6Ru Jewa I°98 QEE?

(1) QIFIFIEG @ AKYId (2) addw 6 aded
(3) °GIE @ P1e-SUL (4) GRIF 3 @Gl@'@
Options:

E1547538885. 1
E1547538886. 2
B1547538887. 3
61547538888, 4

Question Number : 148 Question 1d : 6154759974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
QRERITILFAIES @4 aadiZIgE?

(1) <aeud (2) ¢
(3) Q199 G920 4) QAR %S
Options:

E1547538889. 1
61547538830, 2
61547528831, 3
61547538832, 4

Question Number : 149 Question Id : 6154759975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RINUFQ 670 FUF 21900 QPUI6a geTRe?

(1) QLI 9°AIQ S0 (2) Qg9 Qe 969Ee
(3) QFFS 2I9ELIER (4) B0 ge atsedn BHIg
Options:

E15475388593. 1
E1547538894. 2
515475388385, 3
61547538836, 4

Question Number : 150 Question Id : 6154759976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Q291 ‘UNRNIR QLR 676 ARG 6LARUBI ?

(1) Q99 A8 s QU (2) 9199 IRIGALT QI
(3) QAR I B AFLD AN QIR 4) o aIes QIal
Options:

E1547538837. 1
E154753885958. 2
E15475388949. 3
515475353900, 4



